Elementary Mathematics

CLASS FOUR

i et R o coind. IR

minuend difference |~ q subtrahend

difference > / minuend minuend

Oh, 3 is the
common

factor of 1518
and 18! W

et




/)
Prescribed by the National Curriculum and Textbock Board
4 as a Textbook for Class Four from the academic year 2013

Elementary Mathematics

Class Four

Writers and Editors

Shamsul Haque Mollah

A.M.M. Ahsan Ullah
Dr. Amal Halder

Shawpon Kumar Dhali




Published by
National Curriculum and Textbook Board
69-70, Motijheel Commercial Area, Dhaka 1000

[All rights reserved by the publisher]

First Edition : August , 2012
Revised Edition : August , 2015
Design

National Curriculum and Textbook Board, Bangladesh

For free distribution under PEDP-4 of Minlstry of Primary and Mass Education ___
by the Government of the People’s Republic of Bangladesh 'I
|

Printed by:

<|




Preface

A child is a great wonder. There is no end to the thinking about his‘her world of
wonder, A child is a subject of comiemplation for educationists, scientists,
philogophers, child specialista and peychologists. The fundamental principles of
children education outlined in the National Education Policy 2010 have been defined
in the lght of these conterplations. The curricnhom for primary education hag been
mevised to develop a child on the potentialz of his’her mnate amazement, imbounded
curiosity, endless joy and enthusiasm keeping in view the all-round development of
children's potentials. The aims and objectives of primary education were modified in
the revised curricolom of 2011.

The subject Mathematics is sbatract one . For easy presentation of the complex
terms, there are so many explanations, picturea and examples have been introduced.
To create interest and for casy learning of the students “Do yourself with examples”
are ihcorporated here. To evaluate learning outcomes, sufficient exercises
have been mcorporated in the textboaok . On the other hamd, the eontents of the
textbook have been rearranged by following mammer Easy to Hard' io keep students
enthusastic in the leaming strategy.

To make the young leamers interested, enthusiastic and dedicated, Bangladesh
Awami League Govemment under the dynamic leadership of the Honorable Prime
Minister Sheikh Hasina has taken initiatives to change the textbooks into four colors,
and make them intereating, sustainable and distributed free of cost since 2009, The
texthooks of Pre-primary, Primary, Secondary, Ibtedaie, Dakhil, Dakhil Vocational
and SSC Vocational leve] are being distributed free of cost across the comntry which
i8 a historical initiative of the present government.

My sincere acknowledpement and thanks to all who had helped in different stages of
composition, edition, rational evaluation, printing and publication of the textbook.
Though all cares have been taken by those concerned, the book may contain some
errora/lapses. Therefore, any constructive and rational suggestions will be highly
appreciated for further improvement and enrichment of the book. We will deem all
our efforts successful if the young learnets for whom it is intended find it usefal to
them.

Professor Narayan Chandra Sahsa

Chaterream
National Comriculom and Textbook Board, Bangiadesh
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Explanation of Characters and Symbols:

1) Character: A dialogue between two students named Reza and
Meena are shown in the texthook. The mathematical

concept of the students would be clear through their
discussion and opinion.

2) The steps have been indicated by uging some symbols in the lesson.

C‘Q Key Question: Key concept of the chapter has been
-l expressed through this question,

Activity: To solve a problem students will discuss and
think logically with the help of teacher.

? Exercise: Students will solve the problems. Progress of
learning can also be assessed.
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Chapter One
Large number and Place Value

({9} How do we count, read and write large numbers? ]

_ 4Let'sthinkhnwdomcmmtlargemmber. )

I8, | Why don’t we make groups of ten, hundred and
% \ thousand as we leamed in Grade 2 and 37

1.1 Five digit numbers

6?# These are tickets to s¢ll for a cricket match.
/ 1. How many packages does the box have inside?
2. How many fickets are there in total?

F i sy R T
1000 1000 1000 | 1000
1t0a | 1060 1406 | 1004 L
1400 | 1000 1806 | 1006 h
1600 | 1000 // 1000 | 1008 -
1000 | 1600 | - 1000 | 1000 -

The box has 10 packages of 1000. It
1000 | 1000 means the box has “10 times 1000
1000 | 1000 |=| 10000 tickets. This amount is called ten
1000 | 1000 | ten thousand. thowsand and iz written as 10000.
1000 | 1000 There are 2 ten thousands, so it is
called twenty thousand.

:f.. And we have 3425 more tickets, 5o the total is... |

2 {':
j
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00 '
A Bisncw ] w00g] | 1& ig 10
- k 1
place is called ajut. 10000 | 1000 100 10

Name .
ofthe )| BJULS |thousands [humdreds | tens anice

Place 2 3 4 2 5
twenty-three four i
We read 23425as: thousand | Imndreq | VeV
“twenty tree thousand four hundred and twenty five.”
23425

| ,—5 ones 5
2 tens 20

4 hundreds 400
gat.'ljgrsaids:' 23 th i ,:23000

4 Read aloud, write in words and show place value like above.

i
#

(1) 23517 (2) 50326 (3) 93005

This is an example :

31024 “Thirty one thousand and twenty four”
31024

'—4011:5 4
2 tens 20
0 hndreds 0

1 thousands IUCID
3 ajuts | 31 thousands | 3000

7 Write in figures.
= (1) fifty seven thousand three hundred and sixty three

(2) thirty thousand six hundred and five
(3) eighty six thousand and two
(4) the number made of 4 ten thousands and 9 thousands

i||u5
L

3

<|
|

(5) the mumber made of 6 ten thousands, 7 thousands and 5 tens |

T

1

b
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1.2 Six, Seven and Eight digit numbers
(G 137109 =5

—— &=

It's easy! Let’s make groups of ten, hundred
thousand and ten thousand as we did before.

P, A

Wait! I don’t think it’s so easy... because there aren’t

enough placa&ajnts thousands |bundreds | teng | omca
M3 7 1 0 9

You need to know a new place named lacs,
1 lac is 10 ajut and written as 100000

Name 4
ofthe {lacs | ajuts |thovsmnds| hundreds | tens | omes
| Place /™79 7 1 0 )

3
thirty seven | one :
e fac thousand |hundred mne

Weread 137109 as:
“one lac thirty-seven thousand one hundred and nine.”

1371089
,—9011&5 9
{) tens 0

1 hundreds 100
7 thousands 7000
Jgjuts_ | 37thousands [ 30000
1 lacs 100000
1 7 Read the numbers aloud, writc in words and show plsce valuc. E
T (1)894312  (2)360518  (3)730084  (4) 2463751 |
Challenge! él
<l xs=|



' Anotherplac:isnecdad,andlthjnkﬁcmnnhawhich]\ _

“\comes to this place ig called ten lacs...? . 4=
! As Reza guess, ten lacs comes for this place.
1 ten lac is written as 1000000

EAnd this new place is called nﬂnty

Name
ofthe Amijuts | lacs | ajuts |toosends| bundreds| wems ones
Place 2 4 6 3 7 5 1

twenty-four lac “ﬂi“;’m Jovn | fifty-nione
‘We read 2463751 as:

“twenty four lac sixty three thousand seven hundred and fifty one.”
2463751

l—l ones 1
5 tens 50
7 hundreds 700

3 thousands 3000
& ninis - | 63thousands [ 60000

4 lacs 400000
2 nijuts: 241aes [ 5500000
One nijut (ten lacs) is called “one million™ as well.

2/ Read aloud and write in words. Show their place value like above.
~ (1)4123476  (2) 6871035 (3)5609320 (4) 1111111

AR

3 ,r"Wntemﬁgures
(l)ﬁvelacsevenlythreethousandmxhundredandlhutyfmlr
(2) thirty one lac forty five thousand nine hundred and thirty six.
(3) ninety nine lac ninety nine thousand nine hundred and ninety nine
(4) the number made of 7 lacs and 3 ten thousands =3
(5) the number made of 4 ten lacs 8 thousands 3 hundreds

2020
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19584972 was the number of
students in ana.ry Education in .. Bk N

Bangladesh in 2013. How do you
read it? N

4Sumany! I am one of them! )

( 1t seems that we need another place again. -

We use crore for this new place.
1 crore is 10 nijut, and written as 10000000.

Name

of the jerores| nijuts | lacs | ajuts |tousands|imdrods | tene | omes

Place/| 1 | 9 | 5 | 8 | 4 | § | 7 | 2

200 | minety five lac Jogr | e | eevaytwo

We read 19584972 as:

“one crore ninety five lac eighty four thousand nine hundred and
seventy two.”
195849712

i="-. 2

9 hundreds ggu
4 thousands
8 ajuts ands ™ g4 thousands [ 400 souon
5 lacs 500000
9 nijuts 951acs [ 5000000
1 crore 10000000
4 i 4 1. Read aloud, write in words and show place value like above,
22 (1) 19584972 (2) 25007024
2. Write in figures.

(1) one crore twelve lac thirteen thousand six hundred and eighteen
(2) two crore two lac two thousand two

<'i_-



Use of *“comma™

As you might have been found, we often have difficulty in counting
large numbers. So we use “cornma” to read the figures of the
number eagily.

5l obe

How to put comma

[Example]
7,5/3,6/5,7|8/0

(I GRR [ s Jocomns| [tontes] 1w | ooes
7 |53 65, 7|80
seven ﬁﬂymlhru sixty-five geven cighty

crore thouseand | fnodred
: Each comma comes after the place of thousands,
. lacs and crores. )

It makes easy to understand the places

= 4 Put commas at the right place on the number and read them aloud.

¥

(1) 98784689 (2) 6825712 (3) 130405
(4) 70004 (5) 2171 (6) 44444444
: 1S |i
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G Let’s summarise number counting system for larger ones.

Explain this picture.

(1) How many times larger is ten thousand than one thousand?
(2) How many times larger is one lac than ten thousand?
(3) How many times larger is one crore than ten lac?




; ﬂ 1.3 Number Line

‘What numbers are indicated by A and B on the number line?
B

0 10000 200410 50000 40004

Number line 18 very useful to know the numerical sequence
and larger-smaller relation between numbers.

(8" (The numbers increase as you go to the right on the number

| line, And we must aware of the each interval of the scale,
oY N 4

(Inthis case, each interval of the scale is 1000.)

A is 3 intervals after 10000 : 10000 + 3000 =
B is 6 intervals after 20000 : 20000 + 6000 =

bt
ride] 5

1;~ 4 Write the numbers that correspond with A, B and C positions,

(PP, PO NPT 3o AR, POy o
@) =
|F“"|""’°°|“"

(3)

A B




/" """ €

ﬂ 2:[ Place the numbers on the number line.

(1) 4000, 16000, 29000
0 10000 20000 30000

—yt

|IJ[IIIJlI|IJIIlI'IJ|I'IJIlI!|JlI

(2) 30000, 300000
i} 10000 200000

|IIII|EJIl|IIIJlIII|JIt!|lI

(3) 72000, 80000, 89000
70000 0000

I||||||||||||||||||[||||||||||||

1.4 Exercise (1)

1. Read aloud, write in words and show place value.
(1) 872931 (2) 5178572 (3) 13572468 (4) 1010101

2. Write these numbers in both figures and words. They ka0
(1) The number made of 45 thousands complicated!
(2) The number made of 100 lacs
(3) The mumber made of 1000 thousands
(4) The number made of 127 thousands

(5) The number made of 10 lacs, 10 thousands, 10 hlmdredand 10

[ Draw place value table on your
notebook and make numbers.

crores | nijuts | lacs | ajuts thonsandshundreds| tens | ones

10

2020
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F
\;‘( , 3. Read these numbers aloud and put the digit at the right place like the
F,*"r_ W example .
' | (Ex.)48639 (1) 402537 (2) 7080399
nijuts nijuts nijuts
ajuts i ajuts ajuts
thousands | § thousands thousands
bundreds | 6 hundreds hundreds
tens 3 tens tens
ones 9 ones ones
4. Put comma in appropriate position.
(1) 13524689 (2) 9757834  (3) 55555555
5. (1) Put the mumbers at (A) to (C) pesition,
A B C
& 1000 2000 ¥ 4000
|I|II||III|I||||III|||II|I|II|III|II||IIII||I|”|I
{2) Put the numbers at (A) to (D)
B|
F0000 BOOO0
IIIII||IIIIIIIIII||||IIII|IIIII||||III|
. <|

11
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/ 1.5 Comparison of numbers

@ Which mimber is larger? )

(%?‘ Which is lacger, 38000 or 360007

I remember we learned comparison of
four digit number in Grade 3

(5. ("Which should we compare _ h‘- :
EE biggest place or ﬂae smallest place? (S

We compare from the biggest place to the smallest one by one.

Ajuts are the same.
l lilnthousandplaoe,ﬁslargerﬂ:anﬁ.

'3i8lo0iolo!
316/0{0]0;
S0 38000 is larger than 36000.

38000 > 36000
(@f Let’s check 38000 and 36000 on the number line.

0 LOOOG 20000 30000 40000

L1 T

"| .}Comparethefollumngnumbmwandﬁ]lblanksthe with <’ or™>’,

(A) 9530 9628  (B) 24800 23900

(C) 75000 80000 (D) 465311 465211

12
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/ W @‘ Which mumber is larger, 39000 or 371020 ?
71/ e
|

Let’s compare the digits from the biggest place to the
smallest! So I think 39000 is larger than 371020,

Wait! We sometimes misread Im'lge numbers. Let’s put
the mumbers on the place properly or put comma.

_i3i9i0l00]
3i7ijoi2]o]
3 Wow! The number of digits are different!
o | 371020 ig evidentially greater than 39000!

|
39000 < 371020
Let’s put the mumbers on the number line to compare their numerical size.

I | i St O s B

The way of Comparison of Numbers

1. Compare the number of digits.

The number consisting of more digits is larger.

2. When the number of digits are the same:

(1) Compare the biggest place,

The number which has bigger number is larger.

(2) If they are the same, compare the second biggest place,
and repeat this comparison to the smaller digit until you
find the difference.

(3) If all digits are the same, these two numbers are the
same.

o e

2’ Compare the following numbers and put*<’or>" in the boxes.
(1) 87526 | 141632 (2)9999[ | 44444
(3)4467322] | 464499  (4) 1000456 | 1000465

g <l

13
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g /
#/ ’J, /o> Sakib wants to buy a bicycle and finds different prices in different
_;f m ‘{J shops. They are taka 5238, taka 7329, taka 8324, taka 6137 and
- taka 7325.
' ) Which one is the cheaper and which one is the most expensive?
Arrange these numbers from smaller number to greater
sequentially and show it by symbols.

5238 7329 8324

6137

7325

Well, all are four digits number. So let’s begin with
comparing the biggest place.

comma to clarify the
places?

in order to compare the

B,
How about putting
numerical size.

|

5,238

6,137

7,329 |

8,324

7,325

Oy | 00| ]| W

What is the smallest number? 71312
What is the second smallest number?
By observing the numbers with the place value, we get:

5238 < 6137 <7325 < 7329 <8324

We can also arrange these mumbers from larpest to smallest.
8324 > 7329 > 7325 > 6137 > 5238

fe
5

14




;{fﬂ g4 ¢ Amange the following numbers serially from smaller to greater
|

o
x

/ ;- and from greater to smaller and show by symbols.

98427, 56789, 603245, 791345, 6750283, 97653, 891498

Firstly, it would be better to put them vertically,
and compare them.,

Which is more convenient, : E : i : i
ing comma or putting R
numbers vertically? ——t———
Smaller to greater:
< < < < < <
Greater to smaller
> > > > > >

Prepmfmn‘numbercaiﬂsasthafollnwingpicm and make
& four digit numbers as many as possible with them. And write
' all of them down on your note book.

( By arranging cards, let’s)
find the numbers.
71419211
[1]9)/a ey
g‘ { |
15 | ” FE”
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J’/ /
_f/lf . What is the largest number that you can make with these four cards?

'

,z“" | \Andwhatisthemﬂestnmnbermatyoucanmakewithﬂmm?
y "

' | The largest number is: 9741
The smallest number is: 1479

[Arethcre any rules to make the largest or the

smallest mmnber 7
Let’s exchange our opinions about it and find the rules.

Imagine that you have following five number cards and make
five digit numbers with them.

815027
{1) Using all five cards, make the largest five digit number possible.
(2) Using all five cards, make the smallest five digit number possible.
[ ‘We must be careful about use of “0” }
Oh, that's right. “0” cannot be come to

all the places.

:‘[\ The largest number is: 87520
' The smallest number is: 20578

Let’s listen to the opinions of other students, exchange our opinions
about it and find the rules.

at the beginning, and put the second highest digit at

To make the largest number, we put the highest digit
the second place.
Rita

Yes, ves. And in this way , the digits are arranged
from larger to smaller. 9741, 87520,

16 =



On the other hand, to make the smallest number,
we put the smallest digit at the beginning, and the
second gmallest digit in the second place... a3 a
result, the digits are arranged from smaller to

larger. 1479

( But, we must be careful about ‘0’. Even though ‘0’ is
the smallest digit, it cannot be put at the beginning of
the number because no number begins with “0”. So
we have to put “0” at the sccond place instead of |ss

beginning.

L x 02578 v 20578 Sobuj
We have found some important rules of the structure of numbers.

el iy

4 You have following six number cards and make six digit numbers

*~ with all of them.
Oh, what were
e maoa|  [0]1]3]4]7]l9
number...? (1)Make the largest number possible.

(2) Make the smallest number possible.
A3 (3) Make the largest odd number possible.

Challenge!

G@#‘ Find the largest and smallest number in every digit number up to
-—’ six-digit number and share with your friends about what you

(4)Make the smallest even number possible.

notice.

larpest smallest In this case O st
one-digit mumber 1 |—|t= f'fE}'tI::n =
two-digit number e
three-digit mumber mathematically

| four-digit mumber very special
five-digit number
six-digit number
{1) What is the number next to 9997
(2) What is the number before 100007
{ 1

17
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1. Compare the following numbers and put ‘<, &' or =

1.7 Exercise(2)
(1) 8499 8511
(3) 289999 290001
(5) 1011001 1011001

(2) 11100

(4) 2222221

(6) 5555555

11001

2222223

355555

2. You have following six number cards and make six digit numbers with

0]2]9]6|8]4

(1) Make the largest number possible.

(2) Make the smallest number possible.

(3) Make the largest odd number possible.
(4) Make the smallest odd number possible.

all of them.

3. Thig ig the list of the population of some cities. Arrange these munbers

from smaller to

larger sequentially and answer which city has the
largest population and whlch has ﬂle smallest.
Name of the city | Population
A 371993
B 2456851
C 3704231
D 4589476
E 886397

18
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Chapter Two

Addition and Subtraction

2.1 Addition upto four digit numbers

(1) 232+334 (2) 1325+3522
3 4 5

) 253 @) 1538 ) 1231 ©) 1402
+526 +3421 103 3056
+56254 210
+3120

(7 116+228 (8) 2416+ 1375

® (10) (11) (12)
364 1538 4391 148
+472 +3625 1584 1275
+3625 2151
+1362

We add ones place first and add tens, hundreds
f | and thousands in order, don’t we?

[Y:s, and recall how to carry the numbers, ? " e

21

onesplace 3+4+5

‘=/12

1373 tens place 74 8 + 5 +171
4584 hundreds place 3 +5+6 +2°= 16
+3655

9612 thuosands place 1 +4+3 +1"= 9

‘< |
19

L
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e
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!/ W 2.2 Addition up to five digit numbers

@ Let’s try addition with larger numbers. )

(@“ In a city there live 45736 females and 48797 males. How many
4 people are there in total?
We’ll find the total amount, so the operation ]

mustbe [ |

Mathematical sentence is: 45736 + 48797 |
Let’s put them up-down and add them.,

onesplace 6+ 7 = 13
tensplace 3 +9 +1§3

I hundreds place 7+ 7 +I_‘=/15
M thuosands place 5+8 +1 = 14
+48797 puace 19 ~ A
94533 |  ajutsplace 4 +4

Even though the numbers are bigger, the way of
addition is the same as we studied in grade 3!

The total number is: 94533

i

1 7 Add:

!
1 2 3 4
()1356'? ()22643 ()23514 ()1313?
+43121 + 1L 5 +15627 +18672
(5)22679 (6)23836 (?)43'?56 ®) 99999 ='%’”
+57122 +41489 +37275 + 1

20
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How much is the total sales from [ Janpary Tk.34295

January to May? February Tk.13720
March Tk.14853
April Tk.20582
May Tk.12376

Wearcansweringtotalmnount,suthcuperaﬁnn]

.

gl
f‘w' (%‘ The following table lists the sales of a candy shop.
o

Mathmatical sentence is: 34295 + 13720 + 14853 + 20882 + 12376

i2131
lace =
s 0% [ ones p 5+0+3+2+6 ﬁ]

13720 [ tensplace 9+2+5+8+747 = 32
14853 [ hundreds place 2+7+8+5+3 +3 = 28]
20582
+12376 [thuosands place 4 +3 +4+0+2+2 = 15]

95826 [ ajusplace s+1+142+142 = 9]

The total is Tk. 95826
The way of addition is basically the same. But here
carried numbers become larger.
27 ad:
) (2) 3 @
3123 5364 1082 13921
1434 2103 183 12503
+4272 1134 1427 33555
+ 3225 +6214 11502

+20516 ‘l

AN <[N«:vw,. we can do the vertical calculations of big numbe:rs} '

21

v . ']Lji
S
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(1) 1112 + 2221 + 3232 + 2222 (2) 50000 + 4000 + 300 + 20 + 1
(3) 123 + 321 + 4000 + 2222 + 3333
(4) 12311 + 21022 + 11111 + 22222 + 21212

() (6) ) ®)

Z5E3 1432 [ 401 ' 1402
1242 2104 103 3050
+5234 1735 328 4637
+2621 +6254 2210
+3126

] (10) (1D (12)
329 54827 43454 999499
+54672 + 2654 +37647 + 1

(13) (14) (15} (16)
40305 25302 24173 32724
15246 3514 6234 9063
+30837 236 2558 12626
+34005 + 3424 21151
+13312

(17 (13) (19) (20)
32732 13787 21564 9999
4328 27253 18602 18999
64350 23856 25678 17999
2235 16154 21913 19999

+ 2827 +16353 +12243 +29999




—j’—

_ &

j,f In case of sidewise calculation, we add one by one fromones place to larger
1Wpﬂaﬂes Then putting * “ * meark on the top of calculated digit is useful.

4 Let's solve meexample.]

13421 + 2534 + 40432 + 22020 + 12141

(1) ones place (1+4+2+0+1=8~
13421 +2534 + 40432 + 22020 + 12141 = 8

(2) tens place
In case there is carrying, addtothencxtplace
13421 + 2534 + 40435 + 22036 + 12141 = 1418

(3) hundreds place
13431 + 2534 + 40432 + 22020 + 12141 = 5i4i8
(7" Ler's to caloutate the rest.

(4) thousands place

134721 + 2534 + 40437 + 22020 + 12141 = 51418
(5) ajuts place
13431 + 2554 + 40432 + 22036 + 1214 = 51418

i

4 7 Add with sidewise calculation.

(1) 3242 + 1305 + 132 + 1310

(2) 2150+ 3518 + 1310+ 1314 + 1101

(3) 24163 + 10425 + 14203 + 2340 + 16025 L
(4) 21403 + 14130 + 10137 + 19025 + 21025 _ h

2020




[1st atep] with twu numhers

! oo é '
o8 O ) S

IlIDUUUD'

5F ? Let’s add some five-digit numbers of which sum is 100000.

HowcanIdoit? It
seems difficult...

+800140

Start with ones place.

place including carried
number.

'1'9'9i91p]

[2nd step] with three numbers

T 11
(G i

R

£ L0l
1:0:00:00!

.............................................

111010/0100,

[example]

]

1/412:5:2]
+ 85748
11i0/0/0/0{0

S NPT Fr - - =



" 4

4

' 4 /7

2.3 Subtraction up to four digit numbers

Subtract:
(1) 230110 @) 730-210  (3) 67604650

(4) %)
597 987 2568 7586
B ~450 ~ 105 ~FIE
(8) 150—70 (9 53090 (10) 455 — 265
(1) (12) (13) (14)
540 453 3600 8302
~280 ~- 76 ~ 521 -4797

Let’s review how to subtract with 3-
digit numbers. We calculate ones place
first and subtract in order.

=

|Yes But be careful about“moving the mumber. j? %\

642 ([Omes place] 12— 8 = 4
-36/8 We cannot gubtract 8 from 2, go move 1ten (=10
4 ongs) from tens place to ones place and subtract 8
<  from 12. )
;.;2 [Tens place] 13— 6 =7 E
* We cannot subtract 6 from 3, so move 1 hundred
—3/6)8 (=10 tens) from hundreds place to tens place and
s _subirast 6 from 13, E
5 ™
G642 [[Hundredsplm] 5-3=12
-13/6 8 o
217 4
<|
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fi‘ 2.4 Subtraction with five-digit numbers
The spectators of yesterday's football match were 47543 people

Ll ¥ and today’s spectators are 50238 people. What’s the difference?

Z:AS we have to find difference, the operation should be|  |. J

ﬁ‘gﬁ [We subtract smaller number from bigger number. %‘L‘

Mathematical sentence is:

50238
-47543

5]

110
50238
-47543

1915

i
f£9 I

50[2]3 8
-471543

1619 5

£ 9
50238
-47543

121695

£
510238
-4(7543

| 2695

50238 — 47543

 [Ones place] 8—3=5

([Tens place] 13—-4=9 2
We cannot subtract 4 from 3, so move 1 hundred
(=10 tens) from hundreds place to tens place and
\ subtract. p

/[Hundreds place] 11— 5=6 N
We cannot subtract 5 from 1, so we need to
move 1 thousand (=10 hundred) from thousands
place to hundreds place, but thousands place is 0.

So we have to move 1 ajut (10 thousand) and to
{hausmﬁsplacethenmuvelmausmd. V.

[Thousands place] 9— 7=2 b
We have moved 1 ajut (=10 thousand) to thousands
place and moved 1 thousand to hundreds place, so

\ we have 9 in this place. Y

[ajuts place] 4 —4=0
When the largest place is 0, we don’t need to
0.

The difference is: 2695 people
(Today’s spectators are more than yesterday.)

<
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/. R An author

: printed 10000 books, but printing error was found in 54
y f books and cannot be sold. How many books can he sell?

| T’s a problem for a remainder, so the operationis|  |. L
Mathmatical sentence is: 10000 — 54 (

il S

L0000
- 54

/ [Ones place] R
We cannot subtract 4 from 0, 30 we need to
move 1 ten (=10 ones) from tens place to ones
place, but teng place is 0, So we have to move
10 tens from hundred place, but that place is

\ 2lso 0. Besides thousand place isalso 0....

ajuts |thousands| hundreds | tens ones
1 0 0 0 0
(L0000 ==
L1000 | (1000 |
000 | 1000
000 | [ 1000
004 | 1000 |
(10606 | (1000
(1008 | (1000 || 100 | [ 10
| JOGH | (1000 || 100 (]
Al
D 160 || 160 |
| 10K | | 1400 [F1 0] [y
(1000 | [1000 || 100 | [ 10C q
[TO00 | [ 1000 ||| 106 | [ 100 |
(1000 | (1000|100 | (100
L1 | | 10D |
D00 | (1000 ||| 100 | [ 10¢
D00 | (1000 ||[ (100 | 100 :
006 | (1000 ||| 100 | [ 100 |
| 100e | (1000 ||| 100 V] ;
1000 (100 |
_ a
| 9 | 8 |
g <



220 [ Now wecan

Roo. subtractﬁ'om |

54

[[Oneaplm] 10-4=6 ]

[[’I‘ensplace] 9—8m=g ]

2
1a000 [Hundreds place] R
54 No subtraction.
9146 (or 9-0=9) |
v
¥
1@looo [Thousands place] N
54 No subtraction.
9546 (or 9—-0=9) |
— He is able to sell 9946 books
1 (Subﬁact
(1) 2 3 @
10000 10000 10000 100000
= 1 - 2468 - 9999 - 1

2 M




(1) 4900 —3700 (2) 10000 —8000

(3) 3200012000 (4) 86000 85200
(5) (6) ) (8)

5396 2347 7129 8315

- 554 - 1164 -3383 -7334
) (10) (1) (12)

76237 16847 76413 10000

- 1371 = 1279 - 2946 - 5900
(13) (14) (15) (16)

10000 10000 17003 56004

- 7810 - 3 -14096 -51428
(17n (18) (19) (20)

95014 35220 37152 100000

-76317 -—26241 -19356 - 8

30 Subtract side wise.

Jus1:]1'lu=at:ldi’t:'mn,‘Wﬂt:.ansu‘l::trat;l:t‘mamm:nbe:r4:11'13:331'\1
places from ones place, puiting “~’ marks on the top of

calculated digit and checking the borrowing.
[Example]

s 4

6 ¥453-27246=36207)
(1) 47560-35550 (2 54300 —31400
(3) 74444 - 36363 (4) 100000 —11111

29
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Y A school has 5424 students in total, And the number of girls
are 2631. How many boys are therc?

1 We are finding one part of the total, So we
: choose...[ .

AN i ﬁ Mathematical sentence is : 5424 — 2631

i

mimiend 41310

oot | ¥424
T

/’W 2.5 Relation of Addition and Subtraction

As we studied in grade 3, minuend, subtrahend
and difference have certain relation.

+ pwmie | [} | [ aitemer

minuend difference i ™~a| gubtrahend

(boya)Hgirlsy=(total) (tﬂml)—(gl'ﬂﬂ)'(bmﬂi (total)—(boys)~(girls)

By using this relationship,we can determine the third if any two of
these are given.

Read these two problems related to the previous one and tell the
answer.

A school has 2793 boys and | | A school has 5324 students
2631 girls. How many| |in total and has 2793 boys.
students are there in total? How many girls are there?

30
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¥
w 2.6 Problems related to addition and subtraction

(ﬂ" There were 2450 passengers in the p“i:ige“
train. In one station, 842 passengers :
got off and 798 passengers got on.
How many passengers are there in ==
the train now?

should be addition. How can we calculate it?
Mathematical sentence is: 2450— 542 + 798

‘Getting off” should be subiraction and ‘getting on’ ]

Let’s calculate.
2450 i
— 842 F 798
Now there are passengers in the train.

1 /¥ Rajib’s mother had taka 5580. Before she went to super market,
f'I she got taka 3420 from Rajib’s father and spent taka 7830 for
her shopping, How much taka remaing with her?

ﬂ" Sum of the present ages of a mother and her
daughter is 112 years. 10 years ago, the
daughter was 27 years old. What will be the
age of the mother after 8 years from now?

(1) 10 years ago, the daughter was 27 years old. How old is she now?
(2) How old is the mother now?
(3) Let’s find the age of the mother after 8 years,

the gquestion one | | find other way to

Ah,, We can solve] [It’s interesting to
by one. find the answer.

I

31 : |l :
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/’/ : 2.6 Exercise
“¥ | 1. Do vertical calculation:

(1) @ ()

@

47258 23456 67342 58274

+21631 +56738 +

(3 (6)

13242 40847
34215 12142
+22532 +184131

+

)] (10 (11)
4792 34526

— 9OB2 - 8 -

(13) (14) (15)
87003 40068

- 6697 -34174 -

6579 +31726

(8
14537 17784
32521 19986
12512 16123
23524 19667
+19446

(12)

66842 91276
5933 -89669
(16)

81111 160000
588890 - 9

2. Do side by side calculation:

(1) 13725+ 16131 + 12142 + 13103
(2) 20000-— 18760

3. Fill in the blanks.
([ |- 6483=3517
(2) 6874+ |=9300
(3) 42700 +28800+ |- 100000

32
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' 4, In a godown there are 8373 sacks of sugar, 11860 sacks of wheat and
12720 sacks of rice. Find the total number of sacks in the godown.
' 5. Find the number which is 500 bigger than 1543.

6. What is the difference between the largest and smallest numbers
formed by the digits 6, 4, 8 and 0 using each digit only once?

7. What number is to be added to 568086, so that their sum will be 649327

8. Sum of three numbers is 84025. Among them two numbers are 12450
and 37865. What is the third number?

9. Shihab has taka 390 more than that of Gita. And Gita has taka 470 less
than that of Shimul. Shimul has taka 890. How much money do Shihab
and Gita have?

Class Number of atudents
10. This table shows the number of (boys and gitls)
students of a school. Total number 1 1632
of girls is 3837. How many boys are | 2 1581
there in the school? 3 1543
4 1499
5 1577

11. Schag bought a motorcycle by taka 70000. It costs 1500 taka for
registration and taka 800 for repairing. If he sells the motorcycle
for taka 90000 how much profit will he get?

12, There are a Banyan tree and a Pine tree in & park. 150 years ago, the sum

of the ages of the trees was 2961 years. Now the Pine trec is 1432 years
old. What will be the age of the Banyan tree after 200 years?

33



Chapter Three

W Multiplication

" ' 3.1 Multiplication with two-three digit numbers
Multiply:

(1 2) (3 @ (3)
23 17 221 310 286
x 3 x 4 x 3 x 4 X 6
(6) (M (8) 9 (10
663 567 306 21 248

x R x 3 x 4 X 48 X 32

286
X 4
24 6x4
Write in one line, 320 «— 80x4
800 « 2004
Procedure of the calculation L1144
1.1 I{DI 1 Iml 1 I@I 1.1
:Z:S:E: 48, i
M1 X 1 ¥ 1 54
By 7144, LiLi4:4;
ones place tens place hundreds place
6x4 80 x 4 200 x 4
6x4=24 8x4=32 2x4=8
Put 4 in ones place, | |Add 2 ag carried Add 3 ag carried
and carry 2 in tens | |mumber, (32+2=34) | | number. (8+3=11) -
place. This 34 is placed for | | This 11 is placed for | -
M tens. 11 hundreds. é
< il < *

34
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[lﬁt’smﬁewhuwtucalculatemx."d ]7

Procedure of the calculation
@@
Basic idea 248 2@ %5@%- :2;4:8;
T < 2! x| 13121
248 x2 — 496 141915 .4.9'6. 14/916!
748 x30 — 71440 7:4.4:“. 7:4}4:0:
7936 T:9:3:6:
248 % 2 =496 || 248 x 30 496 + 7440
We regard e
248 % 30 &s f,;“w "thafi‘;
248 x 3 x10. | | the calculation
for tens place.
Numbers multiplied by 10 and 100
thovsands| hundreds | tens onos To multiply any
100 number by 10, move
| o |l HE Ll | o, all the numbers left
2 3 0 @ | 10 times one place and puta 0
= T e to the right.
|| oo || e 100tmes | Tp  multiply  any
2 3 0 number 100,
0 m]m move all the numbers
1 — ——  |left two places and
2 I 31 put two 0s to the
right.
1.7 Multiply:
(1) 5x10 (2) 13x10  (3) 631x10 (4) 100x 10
(5) 8x100 (6) 74x100 (7) 987 %100 (8) 100 % 100

35
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% 2 Multiplication with three-four digit numbers

Q?} Let’s try to multiply with larger numbers.

)

(&7

2009, fotlo)
Procedure of the |3 0 ?: :ﬁ?f: :3:0:5:
colculation x| 1531 \| x| 83! x! 1513
305x 3----- -» 915! .9'1:5. T ois!
FUF Y cawandsnsmimia 15250- 1{512i5.0!
16165
' Total cost is: taka 16165.
We regard:
- 305 % 50 as 305 x 5 x10
1f| Multiply
1y 126 (2) 325 (3) 567 4 280
x 67 x 28 x 78 x 63
(5) 841 6 891 (7) 400 8) 600
x 60 x 99 x 717 x 89
9y 500 (10) 205 (11) 803 (12) 705
x 73 X 54 x 35 x 34
<

There are some Hilsha fish that cost taka 305 each. If you buy 53
of them, how much will it cost in all?

As we know the price of one piece, then we can ﬁnd}

out the price of several piecesby [ |.

Mathematical sentence is: 305 % 53

36
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423 x 234
DEO S0 @D
Procedure of the | 151514! Igle il 1 4l5lq1
] ] I.un :4|2| : :ﬂiﬁsi I |2 3| |4|2|3|
| 1 |
X 121314 x 12134 ! .3.4! X:2:3:4:
411692 '169L 111619121 ] 1116!9'2!
B 1269m. P2690| .ﬂ59m
4 T ¥ e i 8-4|6:0 0' 3'4|6|0|0|
9.8,9,8,2
[ )
We regard: 423 x 30 as
x x
We regard: 423 x 200 as
x b 4
5 Multiply :
(1) 152 (2) 448 (3) 398 4 242
x 171 x 141 x 122 x208
(5) 149 6) 123 (7 556 3 122
x617 x747 X169 x125
(9) 501 (10) 140 (11) 242 (12) 698
x 140 x148 x244 x132
Challenge!
{(13) 1234 (14) 3247 (15) 2015 (16) 6250
X 56 X 29 x 322 b 16 N
<|
37
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(1) 162 248
x2 02 x305

(5) 38 6 203
x70 x 90

{g Which way do you think is easier to calculate, {a) or (b)?

And explain why?

(a) (®) (® (b)
326 326 138 138
x203 x203 || x 70 x 70
978 578 000 5660
0000 65200 9660

65200 66178 | 9660

66178

~J Hmm... (b) locks shorter. What's the difference? |

the places.

Multiplication of “0” is omitted. It’s a
good idea. But we must be careful about

38
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472

x109

™ 123

x300

205

@)
x407

® 462

x200
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®

19—

X2 67—
133

multiphicamd | 77,

multiplier

®) 267

—— 19

114
38

267

507 3—

product

—5073

Do the vertical calculation for 19 x 267. Compare thegse two
forms and think of which is simpler.

2403

1 remember that we

can switch the order of

the multiplicand and 3 S0
multiplier and stillget 3% 4=12
same product.

4x3=12

L

So, we can change 19 x 267 into 267 x 19

As the calculations above show, in vertical calculation,

considering smaller digit number ag multiplier enables

us to easier.

( Compare these calculations, and tell the difference.

27
369

(a) 369

x 27

(b) 48

x1273

(c)

W .

"'_, " Do vertical calculation with the easier way.

(1) 21x459  (2) 48 x 273 (3) 54 x 264
(4) 30x167  (5) 40x 178 (6) 2 x 5478
39

(d 1273
x 48




4
3.3 The simple method

(2} Let’s find the casiest way to get to answers. ]

Use the fact that “25 x7 =175" to calculate 2500 x 700.

25 x 7 == 175
= 100 = 100
2500 X 7 = 17500 | = 10000
% 100 * 100
2500 X 0 = 1750000

2500 x 700
pr—— e,

i —
=25 X-’I$X<7 X 100
=25 X X100 x 100
P S— s
= 175 X 10000
= 1750000

A

1: F( Use the fact that 27 x 32 = 864" to find the following answers.
(1) 270 x 320 (2) 2700%32  (3) 270 %3200

Can't we apply this fact to vertical calculation?
What do you think?




™ the fact that 34 x 26 = 884

ﬂ (51 Then let’s try to simplify vertical calculation of 3400 x 260, using
|

We can consider:

400 * 260
e e, g
= 34x100x 26 % 10

=34x 326 X 100 % 10

884|000 «=——384 |- g x 1000

On the other hand , we firstly multiply the numbers
ithout trailing 0. And we secondly put 0 at the

f the product as the same number as the multiplicand
the multiplier have.

IZLﬂ%mmmmﬁwNHMﬁmmxww;
3400

. x 260

7 204000

680000

884000
;WmﬂHhukmnmmﬂhmﬂﬂcmmﬁmmmJ

AR

z, " Do vertical calculation with the gimple method.

(1) 36 x 20 (2) 180 x 14 (3)23x1700  (4) 130 x 60

(5)2630x30 (6)153%x200  (7)1230x400 (8) 16700 %20

i
41 < I 2
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3.4 Exercise
1. Multiply:
(1) 752 x 10 {2100 % 10 (3)453 x 100 (4) 100 x 100
(5 145 (6) 719 (D) 560 (8 928
X 26 x RS X 63 x 70
9) 406 (0) 208 (11) 137 (12) 132
x 78 x 30 x232 x746
(13) 314 (4 449 (15 207 (16y 307
x20Q9 x219 x429 x203
(I7Y 1265 (18) 3597 (19) 2044 (20) 4189
x 34 x 24 X 41 ®x 21
2. Do vertical calculation with easy way.
(1) 61x256 (2) 34 x567 (3) 40 x 456
(4 1650x30 (5) 789x200 (6 1230 x200

3. Use the fact that “48 x 19 =912" to find the following answers.
(1) 480x190 (2) 4800x19 (3) 480x 1900

4. Explain where the calculations are wrong. Later calculate them
cotrectly.

(A 143 B 901
x 62 x 873
286 273
858 728
1144 7553

42
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5. Fill the boxes with appropriate digit :

Challenge!
1 2 3
(1) s (2) DD& (3} e
x3 ] x x || |
6] | 2372 [ED
690 [1llo
70 ]9 ([ ]a3

6. You have 100 notes of “one hundred taka notes”. How much money
do you have?

7.There are 37 boxes which contaim 500 tickets of a cricket match.
How many tickets are there in the boxes?

8. Rahima eamns taka 125 daily by sewing. How much money doecs she
earn in 25 days?

9. You have fifteen pieces of 230 metres of
ropes. If you put them in one line, how long is
the total length of the ropes?

10, If you put taka 165 a month in a Matir Bank, |
how much money can you save in one year?

11. Selim sold 185 hens from his pouliry farm, He got taka 275 for each
hen. How much money did he get in total?

12. 78 pieces of paper is necded to make an exercise book. If you make
955 exercise books, how many pieces of paper will you need?

43




/
*' Chapter Four

/; W Division
' 74,1 Division by divisor of one-digit number
Divide:
" (1D42+7 (2578 (3)240:3 (4)420+5

(5 ®) 4 (8)
4)80( 9y73( 6)84( 5)61(

( Let'sreviewhowtododivide 93+4 -

quotient

ﬁdend
HB( H 432 P 4)3:{2 D 4)93(23
| 8! 8 8
a1 1 a3
Just look at tems| Bring 3 down. H}
place of dividend. L
Write 2 as a quotient remainder
:fg'hﬁ:ﬂﬂ place on the Write 3 as a quotient of
: ones place on the right.
Multiply 4 by 2 and Multiply 4 by 3 and get
get 8. 12, Subtract 12 from
Subtract 8 from 9 and 13 and get 1 as the
get 1. For tens place remainder. For ones
%+ 4 =2 remainder 1 place
13 + 4 =3 remainder 1

Quotient 23 Remainder 1
We write this as Quotient 23 remainder 1.

This long division has been used in our country and neighbouring "'%"
countries for many years as a traditional method. But we have another =
method as an international method. g

< |
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'~ ‘%‘ Compare following division with the previous one.
Al s quoticnt |,
| 2 2 213
o3| » 43 B (493} W» |43
8 8|+ 8
1 13
- 12
Quotient is on up side of 1

the dividend, not on right
side of it. But the basic
process looks like the
 same.

The basic process is the same but 0111}" the position of the quotlent is
different. As the place of quotient is in accord with that of dividend, we
don"t have to worry about the place of quotient.

After Grade 4, this method will be adopted as the method of division.

Do the division of 390 + 7 .
' 5 5 5 5[5
713 1o [o[w{7]3 [o]o|m{7]2]o o [m|7]3 o [olmb|7]3 s o
35 3[s]! 3]s
We cannot| | Now we can 4 4|0 410
do3+7. ||4e3HT.  Inmiesly 7 315
10 1he eny Quotient offlss. and bring |
. p oW We
— on the fop, || soorect 351 (0down. 155 " 4947
and get 4. with the
same way.
—— Quotient 55 remainder §
1 /7 Do the long division in the international method. 1
| & =
(1) 4080 ) 973 36l @ s)e3
g (5360264  (6)80i82 (17819  (8) 30638
<|
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i How to check answers

.@" Write a mathematical sentence and think about in which situation
yau choose division to solve the problems.

(1) If 18 candies are divided| |(2)If18 candies are distrilnited go
equally among 3 people, how| |that each person gets 3 candies,
many candies will each person| how many people can get candies?
get?o 2 2

e =TT

3 H \

__ Angwer: |3 . : | Answer,
efe 6 candie 77 | poopl
The mathematical sentencesof (1)and (2) are both 18 + 3= 6. Division is
used in the situation of both “divide equally” and “distribute or include
equally+!l

-,

— Relation between multiplication and di\risinn—

If 20 candies are distributed so that
each person gets 3 pieces, how many
people can get candies and how many

T @/ﬁ@im

Mathematical sentence: 20 <+ 3 = 6, remainder 2
Answer: 6 people can get and two candies remain.

Confirm that if adding the 2 remaining candies to the pooduct of
{ 3x6 ) makes 20 candies.

@-‘-i—fremamderz ématch

3 x§ +
divisor X guotient + remainder = dividend

. This calculation can be used when you check answers of division

- 1§
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/ 4.2 Division of ‘three-digit number divided by two-digit’
w C)J Let’s try division with larger numbers. )

(@0‘ You have 80 candies and each 10 candies are in the small bags.
(1} If you distribute all the candies among yours frinds by 20
candies each how many people can get candies?

Mathematical sentence: 80 + 20
[an let’s think about it in terms of small bags.j7 ‘,- -

[ 2 e e

e Considering group of 10: 8+ 2
'.": 4 ., Oh, we can repard 80 + 20 as 8 + 2 in terms of 10 ‘
| 80+20 =4  Anmswer: 4 persons,

(2) If you distribute 30 candies to each of your friends how
many can get candies?

Mathematical sentence: 80 + 30

e

Considering group of 10: 8+ 3

80+ 30 =2, remainder 20 :
Answer: 2 friends pet candies and 20 candies remain 'i] .

2020

<| |
i s

47



)3 Divisor X quotient + remainder = dividend

4 20 = 4?12“’“‘“]‘(2} 30 =2 ,....?;Tgmh
20 x 4 =(80) 30 x 2 + 20 =§0)
17 Do division and check the answers.
.» (D90+30 (2)80+40  ()120+40  (4)240+ 60
(5) 420+70 (6)400+50 (7)50+20  (8)80+30
(9) 120+30 (10)210+50 (11)390+60 (12) 500 +90

ﬂ- (N Check the answers in the previous page using the formula:

L

2* ; Find the mistake in the calculation below. And find the correct
- e 190 + 40 = 4, remainder 3

(%" You have 85 candies. If you distribute among your friends by 21

. candies each, how many people can get candies?
[T]:Lesuene is similsr to the previous une}

Mathematical sentence is:

| Firstly, let’s estimate the quotient.

Think about 85 as 80 and 21 as 20
85+ 21 |m) 80+20 mpf 8+2
Estimation of the quotientis: 8+~2=4

Now, let’s think about how to do the long division for
85+ 21,




/7
g | 4| 4! 4
W 2108:5 *2185 ‘2185 ’2185
' 84 8 4
| [1. Look at tens
place of 2. Now we can 1
e
;z““nf:?‘l"tg “ 2 ||estimated 4 as([3. Muitiply| [4. Subtract 84
place. a quotient on||21 by 4 and| |from 85 and get 1
ones place. get B4. as a remainder.

85+ 21 =4, remainder 1
Each will get 4 candies and remain 1 candy.

Let’s do the vertical calculation for 62 + 31

.,_.J WecanthjnkabnutGZasﬁﬂmdBIasiio.]

62+31|->|60+30|-p

6=3

Estimation of the quotientis: 6 +3=2

2 2
31067 W 31763 B 31783
62
S Do vestical caloilation.
[] [ []
2106 3 1106 6 2405 1
L LI nn
wwwww L [ N
4 /7 Do vertical calculation.
T (1) 36+12  (2) 96+32 (3)76+38
(5)25+12 (6) 78+11 (7)84+41
49

(4) 94 + 47
(8) 94 + 45




Use of your finger
/_‘ It’s convenient to nse your finger when you check the place,

“We cannot 2 "Now we can
4509 do9+457 ‘ 45 do 94 +45.°

o

Thereare 165 pencils in a box. If we distribute an equal number
ufpmﬂstuSS people, how many pencils will each person get?

A(For dividing into equal mumbers, we choose |:|]

Mathematical sentence is:

165 + ss)->|160+sn|-p 16+5 H About 3

ssﬁiﬁ_ ﬂssﬂﬁi' B ss 165 D ss lﬁi'
165 165

4]
1. In hun-||(2. In temns ||3. Now we can do|| 4. Subtract 165
dreds place, | [place, we ||165+ 35, from 165 and
we cannot do | |also cannot | |We write estimated || get 0.
1+35. do16+55. ||3 as a quotient on || No remainder.
i‘;l:’ﬂz w180 move to ones place, Multiply
' ones place. | |55 by 3 and get 165.

165 +55=3
Angwer: Each person will get 3 pencils.

5 7 Do vertical calulation.
T ()129+43  (2)128+32  (3)415+83 (4)359+51

(5)382+62 (6)314+43 (7)662+94 (8)239+47

50
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Estimation i not alwaye correct. It may be higher or lower. Then we
have to revize it.

(G Divide :

(1)95+34 [90+30 jm) 9+3 =) 3

Choose smaller mumber
g e

34) 93 ~ #34!‘9‘5‘ If your estimated
uz) quotient is too
Ty large oo subirace] 1? large, put the next o iadh

o

(2)189+27 |189+27 Hlsu+zu|-p| ]

zﬂilag)# zﬂllss)* zﬂhsg

243 216 189
Too large to subtrect! Sl 100 largel 0

(77+18 | 77+18 |mf 70+ 20 jm)| About3

3—" 4 4

18077 ‘ 18057 If the remadnder 15
: too large, put
13 inclodas ona 34 T2
moee 18, 23 X the next larger %%
namber, i

-'""—"" oy

8 " Divids: q
(86+24  (IT+19 @()91+13 (@)T5+15 m_
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of pieces to 18 people, how many will each people get?

y < When we divide equally wouse[__1)

/
ﬂ (%o‘ There are 432 pieces of paper. If you distribute an equal number
|

J Mathematical sentence is:

E-sﬁmation:ﬂ{430+20H 43 +2 MAhomzn

18“43' ’ 18?43t * 18?43?! 18[’432'
36
72

1. In hundreds||2. Write 2 as
place we cannot| [ quotient of tens| [3. Mave to “
do4+18,butin placguntopand ones place e
tens place, we||multiply 18 by 2 and being 2 4. Now we

can do 43 + 18. | | to get 36. 72 + 18 and find 4 ag
Subtract 36 from| |3OWn- Now |l oient of ones place
43 and get 7. we have 72.1l;n4 no remainder.

We should compare the quotient with the
estimation to check whether it’s correct or
not. In this case 24 is near to 20, It's OK.

432 +18 =24
Fach petson will get 24 sheets.

7 7 Do vertical division.
(1)682+22 (2)M5+45 (3)672+32 (4)739+32
(5)572+12  (6)610+19 (7)690+16 (8)970+46
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@m fllowing vertical division;
y 941 + 23

EE

fd

Ll
o
ba

|

Pk
[a—

=

[ ]
[

21 + 23 is not possible but there should be a digit in ones place.
Soput ‘0" as quotient of ones place.

8 7 Do vertical division.
(1) 711 + 23

(2) 731 + 18

(3)763+25 (4)810+27

4.3 Division of four-digit number by two-digit,

Du vertical calculation,

(1) 3266 = 23 =5 3000 + 20 jmp 300 =2 fmp About 150|

1} 14} 142
2303266 ﬂ 2313266 - 23
23! 23i§
: 96;
92
4
g 3266 + 23 = 142
53 P < |i




(2)1576+17 =) 1600+2 =) 160 +2 mf about 80

i 9 92
1707576 W) 1707576 W 1707576
' 153i

153 ;
45 465
[ | 34:
12:
1576 +17=92, remainder 12
(1) and (2) are both divisions of

il

1 7 Do vertical division.

#

(1)3038+ 14 (2)7824+48 (3)5876+32 (4)4213+27

(5)4032+63 (6)4920+54 (7)6100+72 (8)1512+126
4.4 The simple method

(?Q Let’s find the simple way to get to answers. ]

Compare the division of 6=2, 6020 and 600=200

N 6 candies are distributed so that (@ | (@] [@9)
6+2 each person gets 2 pieces. .. ﬁ ﬁ &
60 = 2q 00 vandics arc distributed so that all® ﬁ

! each person gets 20 pieces... t10] |t010] |10da] |
600+ 200 600 candies are distributed so that (| | €|

. N each person gets 200 pieces... 3| [ao) ﬁ,
<|
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+ 2 =3 6 + 2 = 3-

10 l!lﬂ T+10 T+1ﬂ
+ |20 = 3~ 60 + |20 = 3—

x 100 * 100 + 100 + 100
600 = 200 =3~ 600 + 200 = 3-
Equal Equal

If you multiply or divide the divisor and dividend in a division problem by
the same number, the quotient stays the same.

(We can apply the properties of division to our calculation. 71 - A
="
Using the propetties of division, let’s try following calculation.
al (1) 800 + 200 (2) 1400 + 200 (3) 3500+ 700
{4) 5400 + 60 (5) 1000 + 100 (6) 10000 + 1000

It is one idea to score out the same number of Os.
[Example] 888 +~280=8-+2, 5408 + 68=540+6

(@: 3500+250 was calculated by Ripa, Sumon and Sohag with the
A~ simple method. Let’s explain their ideas.

™,

(1) Ripa 3500 + 250
1+10 =10
350 + 25 = 14
3500 + 250
R i
35 + 25
B B
0 <+ 5 = 14
3500 + 250
A A
130 + 25
3 r
1400 + 100 = 14
B ||

55 i




compare your idea with your friends.
(1) 250=50 (2) 8100+900
(3) 150+25 (4) 7T00+25

Let’s do the calculation to check whether the following method is
right or not.

If we divide a mumber by 10 or 100 by easy process, we put
comma after as many digits from the right of the dividend as the
number of zeroes on the right side of the divisor. Then the mumber
of the left of the comma of the dividend will be quotient and
mumber on its right side will be remainder.
734+10 734 10 |987+100 987 100
WY, v A
quotient ! remainder quotient ! remainder

ﬂ. 4 # Using the properties of division, try following calculation and
[

AR,
o

2 7 Now let’s do the following exercise with above method.
(1)876+10 (2)1234=10 (3)765+=100 (4)9765 =100

4.5 Exercise

1. Divide :
(1) 6030 (2) 90+40 (3) 24030 (4) 310+40
(5) 45+15  (6) 92+46 (7) 83+41  (8) 99+28
(9) 168=42 (10)455=73 (11)224+28 (12)141+27
(13)837+27 (14)691+16  (15)928+43 (16)764+25
(17)2795+13 (18)3030+14 (19)1674+18 (20)9316+32

2. Do calculation with the simple method.
(1) 7600 + 200 (2) 7200900
(3) 100000 + 1000 (4) 350 +25
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3. Fill in the blank boxes .

(1) @ E)

2 il L]0
3DE 1D]_§9SD Ds]_: gu
1 1 0

14 0

3 10

4. The quotient becomes 3 and remainder is 10 when we divide a certain
number by 34. What is the number?

5. There are 99 children. You are making team of 11 to play football
games. How many teams can you make?

6. You want to divide 182 postcards equally among 26 people, How many
postcards should you give each person?

7. There are 500 pencils. We’re putting 12 of them in each box. How
many boxes do we need and how many pencils remain?

8. A wire of length 1716 meters is divided into 78 equal parts. What is the
length of each part?

9. Price of the rice of 85 Kg is taka 2295. What is
the price of 1 kg rice?

10. You have 2784 beads. And you're going to
make some garland with 98 of them. How
many garlands can you make with them?
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Chapter Five
Problems related to Four Basic Operations

‘5.1 Mathematical Sentence and Calculation Order

Q,\'} Let’s be used to mathematical sentences and learn calculatmn]
. order!
LW

@f Sohel bought a chicken of taka 230, later he also bought pulse
i of taka 60 and vegetables of taka 40. Write a mathematical
sentence to calculate the total cost and solwve it.

[Let's try to express the situation to single mathematical smtenne};r élu_

Mathematical sentence:

'@ < Let Let’s see these ideas, compare the mathematical sentences and
,_ 1\ |explain how Hasan and Shila thought to solve the problem.

230 + 60 + 40 230+ (60 +40)
=330 =130+ 100
Taka 330 G, =330 Taks 330

Shals
[Howintemsting!maihemaﬁcal sentences tell us how the

one thought about solving the problem.

Theanswermthesmwhcthﬂyuuaddthetermsmbyuneurgroup
them first. You can use bracket ‘{ )’ to show you are calculating by
grouping. In general, we calculate from left to right, but calculate the
numbers inside the bracket first when we have the bracket.

230+ 60 +40 20+(60+ﬂl)

58
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i
. B W Rita had taka 820. She gave her daughter taka 260 and her son
fr" X2/ taka 240 Write a mathematical sentence to calculate how much
r a ' ghe has now and solve it.

Mathematical sentence:

Lat’swmpmthcidmofhﬂmmwandmplajnhow]
they thought,

Mitn®s idea Sabuj’s ldea
820 — 260 — 240 820 (260 +240)
= 580 — 240 = §20— 500
=320 Taka 320 =320 Taka 320

The answer is the same whether vou subtract the terms one by one or group
them mside the bracket to add first and subiract. In case of subiraction, you
need to be careful about calculation inside the bracket, because it's addition.

{@# There are 2 trays and each hag 4 plates
_EE’ on it. I have put 3 piasjus in each Ge) @e ‘l 2 (e ‘

plate. Write a mathematical sentenceto | 6o &
calculate how many piajus are there -
in 2 trays and solve it.

Mathematical sentence:

AminuPs iden

3x(4x2)
=3x8
=24

%4 pigi

Kazol finds the| [ Aminul thinks
mumber of piajn abowut the mumber
on one tray (3x4) of plates (4x2), _ ‘g_
first, right? kﬁmﬂ?' i
|
: <|
59 .
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ﬂ- [Sumetimcs, these rules enable us to calculate easier. Let’s

7

b

'

' try to do next exercise.

o

ik

1;_ ” Calculate and compare the answers.

(1) 128+92+8 (2) r376+181+19
~128+(92+8) 1376 +( 181+ 19)

(3) [657-64-36 (4) r928-375-125
-657 — (64 + 36) L928 - (375 +125)

(5) [37x20x50 (6) _’?8X25R4
-37 % (20 x 50) .78 x (25 x 4)

uzmﬁ"* Express the following problems toasingle mathematical sentence
and solve it.

(a) Price of a pencil box is taka 150. How many pencil boxes can you
purchase by taka750?
Mathematical sentence:
The answer:

(b) Abox containg a bat of taka 100 and a ball of taka 50. How many
boxes can you purchase by taka 7507

Mathematical sentence:

The answer:

T

3 " Make your own story for Mathematical sentences below and solve

J
Hhen 6«1}' story is this:

In our garden, we have 200

Roge planis. Now my

mother plants 150 and

my father plants more 70.

How many Rose plants

(1) 200 +( 150 + 70)

60



(%‘ Let’s try to make general Mathematical sentence using *( ¥ for
" each of the following problem.

(a) Price of a Singara is taka 6 and I have a 100 taka note. How much
is the change if T buy ten Singaras?

¢ X )

(b) Price of a Hilsha fish i taka 300 and a pair of pigeon is taka 200.
How much is the cost if I buy one Hilsha fish and one pigeon?

+ ( # )

{c) Price of a cabbage is taka 25 and a pumpkin is taka 60. How much
is the cost of 2 cabbages and 3 pumpkins?

( 2 ) + ( X )

When you solve both addition or subtraction and multiplication or
division in the same Mathematical sentence, the rule is that you must
calculate the multiplication or division first. (But in multiplication and
divigion, you must calculate from lefi to right.)

With this rule, we don’t have to use ( )’ in the Mathematical sentences
above. We can rewrite them like this:

(8)100-(10x6) mp 100-10x6
(b)300+(200+2) @ 300 +200+2
(©)(25%x2)+(60x3) mp  25x2 + 60x3

4 7 Calculate them.
' [Be careful about the order of the calculaﬁon.L .
(1) 6+12x%5 (2) 300- 150+ 50

(3)200—25x4  (4)60+30+6

61




Calculal:e applying the rules for calculation order.
(a) 9xB+4x2

(b) 9—8+4x2
(c) 3—(B—4x2)

[Oh, it's complicated.. -}\ ;rfﬂ‘.-.jﬁ

e

(@B)9Ix8+4x2 = T2+4x2
KDI—EI @5—' = 72+8
S = 80
M9-8=4x2 =9-2x2
® =09-—4
@ @
=5
()9 - (8—4x2) = 9—(8—8)
ol ® = 9-0
® = 9 Let’s summarise the
calculation order rules.
r o i
- In general, calculate from left to right.

- If there are both + or — and x or +, calculate the x or + first.
- Ifthere are ( ¥, calculate ingide the *( ) first,

5

R

62

/' Caleulate them.
(1) 16—-4+2 2 16-(4+2)
(3) 16+4+2 @ 16:(4+2) -
(5) 16+4+2 6 (16+4)+2 g
<[ x3=|
| =i | !



4
5.2 Rules and Ideas for Calculation

C?;? Let’s get the new rules and ideas for calculation.

. 8
ey There are some red apples and green (131211 11]
5/ : 20909899
- apples. How many are there in total? 4~.'."."
o Sil11111]]
y ‘We can solve it in "DOVVDD DD
) % | menyways. 3900000090
Llilrlxl,
Dipika’s idea Shaymol’s idea
(4+3)x8=56 4x8+3x8="56
56 apples 56 apples

We get the same answers with both Mathematical sentences. Even though
Mathematical sentences are different, you can connect with equal sign as
long as the answers are equal on both sides.

(4+3)xB=4x8+3x8

Here are some rules for Mathematical sentences which use { ).
(M+A) X® =HX@®+AX®
(H-4) X® =H X®-4Xx80

It can be verified by putting different numbers

in place of M, A and @.

1__? Following above rules calculate to make sure that both
© Mathematical sentences are same :

() (135-35)%x7 (@) 135x7-35x7

= <|
- J =
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/

(%'\ Use calculation rules to get the answer.

Remember the fact: 25 x4 =100

(1)25 x 32 [Ifyuu can find 4, it’ll be very casy.

25x32=25 x (4 x 8)

= ( x ) x 8
= ) x 8
I know that ‘99 =100—1°
(2)99 % 9 Let's use this! y ¥
If you can find 4, it’ll be very easy./ (@ [ 2

99x9=(100—1)%9
- x9—| X 9
-]

mmmmm

2 7 Find an altemative easier way to calculate the following. Explain

your idea in your notebook.
(1)25x16 (2)24 x 25 (3)50x 18
(4)98 x5 (5)102 x 11 (6)999 x 9

3_, ! 4 Solve it by using calculation rules.

(1) Bidhan Tripura bought five water melons of taka 98 each.

How much did it cost?
(2) Maya has 36 small bags. Each bag has 25 olive inside. How -
many olive does she have in total? 1
< %%
&4
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_ { 5.3 Exercise
i ¥ || 1. Calculate applying the rules for calculation order.
| (1) 7x8-6+2  (2) Tx(8—6+2)
3) (Tx8-6)+2 (4 Tx(8—6)+2

2.Using the calculation miles to calculate the following
(1) 724+87+13 (2) 624—76—
(3) 20 x (66 x 50) 4 4x92x25
(5) 32x25 6) 97x8
3. Express the situation to a single Mathematical sentence and solve it.
(1) Price of 5 pencils is taka 60. How much is the price of 9 pencils?
(2) Divisor is 3 times the remainder and the quotient is 4 times the
divisor. Remainder is 2. What is the dividend?
{3) Monthly salary of Ms Shampa is taka 7500. She spends taka 7250
every month. How much money does she save in a year?

4. Rupa and Moni have taka 875 together. Moni has taka 125 more than
that of Rupa. How much money do they have separately?

5. Sum of the ages of father and son is 55 years. Father’s age is 4 times the
gon’s. How old are they individually?

6. Price of 4 hens and 3 ducks topether is taka ; (e

639. Price of 1 duck is taka 85, What is the Wéﬁbﬁ _
price of 1 hen? =

7. Make your own story for Mathematical sentences below and solve them.

{1) 200 —-(10x8)

() (6x8)+(12x2)

&5
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_’/I, Chapter Six
' ﬂ Mathematical Symbols
¥ 1
6.1 Mathematical Symbols

C?Q Let’s learn about mathematical symbols.

(f-?: Look at following mathematical sentences. These are consisted of

¥~ various mathematical symbols. Try to classify them.

2+3 30+5+8 7—6=1
4xX6<26 35+5+2x3
BXxT7#£35 35 *53 O9x6>45

Mathematical symbols are classified as shown below:

Symbols used for writing down the numbers are called:
Numersal Symbols 1 0,1,2,3,4,5,6,7,8and9 |

Symbols used for bagic four operations are called:
Operation Symbols [ +=xand+ |

Symbols used to indicate the mutual relation are called:
Relation Symbols (=>»<s A*amds |

We have to be carcful about the names of
the Relation Symbols.

>  greater than <  gmaller than

+ mnotequal 3 notgreaterthan « notsmaller than

66
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4 7 Express the following by using the mathematical symbols.

=~ (1) Forty-seven ig not greater than ninety- six.

(2) Nine hundred and nine is not equal to nine thousand and nine,
(3) Twenty-five is not less than twenty-four.

AR
.

2 _,_?

Put =’ or ¥ in the blank boxes.
(1) 3x5 |[15 (2) 2412 3

di,

4

e

o
377 Put ‘¢’ or %’ inthe blank boxes.

(1) 73 37 (2) 20+9 30

Put the appropriate relation symbols in the blank box.
(2)52-15+13 52— (15— 13) nglﬂmlgeofmer;%
them.

compare
(1) [left side] [true side]

TV T (£ Y

: =618 Pl =8x4 ;

i =14 Poi=32 i

14<32
26+2x4 Ll +2)x4 < isasymbol which

(2) [leftside]  [trueside]
TS —15+13 1 5a—(15—13); |<Am Wwe put any

: =37+13 Hi=52-2 i g related t]:f these
examples?
50 =50

~52-15+13_[52-(15-13)

¥ Puttsapproptiate relation symbol i e biark box
(D142-65__|57+12

(2)63+7x5_]63%5+7
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6.2 ‘true’ or ‘false’ with Mathematical sentences

C’j Let’s study ‘ttue’ and ‘false’ with mathematical mtences.)

(N The following are all mathematical sentences. Which is true and
which is false?

(a) 15+7=22

(b) 12+5=5

(c) 6x3=2x9

(d)3x12<30+2
Compare the left side and right side of the relation
symbols carefully.

~tensicel =~ lnghtside]
(a) =E+? = 22 | - truesentence
Because 22 isequal to 22.
® | 125 P _ 1 g ! . false sentence
(el 717 S S S—
Because 2 remainder 2 lsnotequaltu 5
© | 6x3 t_E 259 1 comessitess
W3 Com— LR N | :
Because 18 is equal to 18
O 3_"_5,;1.2""? < {30 +2 - false sentence
L= . I €= - T, 5
Because 36 is greater than 32.

Mathematical sentence may be true or false,



7

//

2
T S
;/. 0 1 7 Look at following mathematical sentences. Which is true and
’,’" _ which is false?
| ()46 —7 =40
(b)18+9%2
(€)12x5#120+2
(%" Is following mathematical sentence ‘true’?
; This time, it’s a little bit
[]+9=15 [cumplicated, isn’t it?
[left side] [right mde]
3 — T .1 true sentence?
g+9b“ = uli | falge sentence?
M
With the mathematical sentence above, we can not say it’s true or false
immediately. It may be true or false. So it’s open.Such a mathematical
sentence is called open sentence.
‘true or false’ of the open sentence depends \ ‘%
on what values are used. _ : 1
In this case, if 6is putin[ |, the mathemancalsentenaemll betrue And
if another number is put, the mathematical sentence will be false.
[6] +9=15 true sentence
[5] +9=15 false sentence
This |:| can take any value. The mathematical sentence is trueor false
depends on the value which is putin the [ | . ~+
2 o
69 | 2
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6.3 Mathematical sentences with [ ]

Cg} Let’s make and solve mathematical sentences with[ ]. |

(ﬁ' Mukta has some candies and Apu
8% has 6 candiss. The total number of the
candics they have is 18.

(1) Write a mathematical sentence for above
statement, assuming that Mukta has | | number of candies.
(2) Find the unknown number to be filled in the [ ].

(1) The mathematical sentence should be:] |+ 6=18
(2) The number to be filled in the [ | should be:

o 35

(We can fill in the box by| [ We can solve it using the |
different numbers and find it.| | relation between addition
0]+ 6=18 x and subtraction.

T1+6=18 x [ ]=18-6
12]+6=18 ¥ =12
13]+6=18 x

-

]
bt
-3

1 There were 21 Plums . Some of the Plums were eaten by some
~  friends and 14 of them remained.

(1) Write a mathematical sentence agsuming the mumber of Plums _,ﬂ_
eaten iy | |pieces,
{2) Find the inknown number,

70
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/ (m“' 32 pieces of Ruti are divided equally among some people and
_:;é:! each person gets 8 pieces.
P (1) Write a mathematical sentence assuming the number of people
is[ .
(2) Find the unknown number.

|

(1) The mathematical sentence should be: 32+ |=8
(2) Unknown number to be filled in for[ ]should be:

(We can also fill in the] | We can solve it using )
box by different numbers the way of checking
and find it. answers of division:
8x[ |=32
32+|z|=3 X '
32 +[3]=8 % i;dd? solve this, we
32+[4]=8 ¥ |:|
32+[5]=8 %
\, I
L/

[]

2 r’ Write mathematical sentences of the following statements using[ ]as
"~ the unknown numbers and find the value of | |.
(1) 12 is added with a number such that their sum becomes 180.

(2) A number is multiplied by 15 such that their product becomes
270.

71 |
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6.4 Exercise
1; Put a relation symbol in the blank boxes so that the obtained statement

(1) 87 +13 108 — 19
(2) 267 -25-27 267 - (25+27)
(3) 343+7+7 343+ (7x7)

2. Yerify which of the following statements are true and which arc false.
(1) 76 —34+30 = 76 — (34 — 30)
(2) 200—-25%x4 # (200—25)% 4
(3) 32+4+2 « 32+(4+2)
4) 3x6+4x2 =3x(6+4)x2

3. Put such an operational sign in the blank boxes so that the obtained

statement is true,
(1) 69| |13=7] 8 (2) 58] |29= %Dg
(3) 8 |5=1200 30 (4) 87| |38=7

4. Put such a number in each of the following open sentences so that the
obtained statement is true.

(1) +9=49-15 @ 9% |=36x2
3) 81+[ |m27+3 ) 3+8x[ |m35

5. Express the following questions by using| | and find the unknown
mumber.

(1) A number is divided by 7. Quotient is 5 and remainder iz 4.
(2) 7 is multiplied by the sum of a number and 3. And product is 56.
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'l Chapter Seven
/ ,ﬂ Multiples and Factors

71 Multiples and Common Multiple

@ Let’s leamn about multiples. ]

{@J‘ In the shop, boxes which contains
&/ cookies and chocolates are piled
up separately.

The height of the boxes which contains cookies is 3 cm.
Let’s find the relation between the numbers of the boxes and the total
height of them when we pile up the boxes.

mumberoftheboxes | 1 | 2 | 3 |1 4 | S | 6 |7

Total height{cm) | 3 [ 6 | 9 | 12

" The numbers like 3, 6, 9, and 12 are formed by multiplying a number
by 3. They are called multiples of 3. Multiples of 3 arc divisible by 3.

The multiples of 3 are: 18
3x1=3, 3x2=6, 3x3-9, 27
and many, many more.

When we talk about multiples, we usually do not includc]_ I ¢
multiples of 0 or numbers multiplied by 0. e

73 — fi:
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¢ multiples of 3,;multiples of 4 and multiples of 5 on the number

/m “f “% Circle multiples of 2 on the number line below. And also circle

Y | line. (Some have been done for you.)

# 1011 12 13 14 15 16 17 1§ 19
 ECE ECRR FCRR Fu ECRR G R IR I

'mlwuﬂlln@:@s@‘r {

®
]

7

:"

% 10 11 12 13 14 15 16 17 18 19
 ESH N S0 Y I Y I [ s [

ruliiples of 3 | '

wmitiples of 4 i Gk i i o s s D I Y

# 1011 1k 13 14 15 16 17 1§ 19
| T Y Y

[ | AR NSHITHREN
1 N
] W THAMTILTED W
l I Y Y
I #FWIIZ13WISIEITIRI DI BAMFHTHD N
1 N I Y Y
1 HHEBPYHNESHITHE N M
l ) Yt I I N ) ) ]

mltiples of 5

i

2 ’ Which numbers in the box below are the multiples of 77

=5 A
71621 32 65 84 | g R L 5?
of 7are divigible by 7. f t?'

";““.»5, The height of the boxes which contains
i chocolates is 4 cm., When we pile up the
boxes, how should we call the numbers

for expressing the total height?

4 8 12 16 20
24 28 32 36
40 44 48..

~ If we keep piling up the cookis boxes
(-g with the height of 3 ¢m and chocolate
V" boxes with the height of 4 cm separately,
when does the height of both piled boxes
become equal?

3cm ¢ Mem

multiples of 3 multiples of 4

3 6 9 15
18 21 27 30
S NG

| Answer: the height is equal when the height becomes 12, 24, 36...
<
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ﬂ[Numbm that are multiples of both 3 and 4 are called cnmmn:j
|

'

Y multiples of 3 and 4.

The common multiples of 3 and 4 are 12, 24, 36, and many more,

' Find the common multiples of 6 and 8.

[Let’s compare these two idms.b

Multiples of 6: 6,12, ;@ 30, 36, 42, 8.
Multiples of 8: 8, 16,24, 32, 40, 48(56, 64, 72...

Mﬂmﬁ Firstly, I listed the multiples of 6 and multiples of 8, J

and then looked for the mmbers that were the same,

Multiples of 8: 8, 16, 24, 32, 40, 48, 56, 64, 72...
Multiples of 6: X X X X

Temitn I looked for the multiples of 6 in a list of mutiples of 8. |

Answer:The common multiple of 6 and 8 are 24, 48, 72 and more.

The smallest common multiple is called the least common multiple
(LCM). The least common multiple of 6 and 8 is 24.

ST,

/" ordering them from the smallest. And also write the least common
multiples {LCM),
M 2,3 (2)45 3)10,5 43,7

Y v By the way, can we also | [ Yes, with similar way.
3 | find common multiples ||Let’s try it on the next

X

"N \| for sets of 3 mmbers? || page.

15




Find common multiples and the least common multiple (LCM)

for 2, 3, and 4.

Multiples of 2:

Multiples of 3;

Multiples of 4;

Multiples of 4: 4, 8, 12, 16, 20, 24, 28, 32, 36, 40...

Miultiplesof3: XX ¥ X X v X X ¢ X

Multiplesof2: XX ¥ X X ¢ x x ¥ X
‘Which way do you
think is easier? %

Answer: Common multiples for 2, 3, and 4 is 12, 24, 36 and more.

5
= 5 4
#

&

Least common multiple (LCM) of 2,3,and 4 is 12

Find the least common multiple {LCM) of following.

()4,6,20d9 (2)4,8,and 12 (3)4,5,end § _

‘We want to arrange rectangular tiles 3 cm E

——— = S

wide and 4 cm long like the figure on the  § | 1 1 1
right to make the smallest square possible, 171 "
How many cm are the sides of the smallest  ---1---1-=-1---"
square we can make? B e i N
The widths are 3, 6, 9, J[Itsgomgtobetheleast .
12... and the common multiple (LCM) =

4, 8, 12, 16... of 3 and 4.

Multiples of 4: 4, 8, 12, 16, 20, ...
Multiples of 3: X X

Answer:The sides of the smallest square is 12 cm.
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f‘f, /
/
f,f ﬂ 7.2 Factors and Common Factors
8
% x"l ! C}Q Let’s learn about factors,
(ﬁ!“ We want to divide 12 candies | 7/ ™V
*J evenly among several plates. How | [y ¢ -
many plates can you have without E
having any candics remaining?

. L < Let’s find the answer by starting puting the candies on 1 plate
";_f."-' and then keep poing with 2 plates to12 plates one by one.

Number of plates 112 (3|4 (5|6 |7|8]9]|10]|11]12
Without Remaining: " %
With remgining; X ,{ i %

If we have lv If we have 2 \'/Ifwuhaveﬁplates,we
plate, we can put plates, we can put can put 2 candies each

12 candies on it. 6 candies each. bui 2 remam...

Answer: 1,2, 3, 4, 6, 12 plates to put the candies on without having any
—

4 ™
The numbers that can divide 12 evenly are called the factors of 12.
The number 12 has 6 factors:

1,2,3,4,6,and 12.

\_1 and the number itself are included in its factors. .

I find relation between factars and multinles. R

For example:
3 and 4 are the factors of 12,

and 12 is the multiple of 3 and 4, 12 =4 x 3

multiple /

g <|

17
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/

i
i
l',.ll

-----------

Each factor has pairs of which product is 12.

-

I alzo find relation among each factor.

—————————
‘“h‘

Find and check the factors. Then exchange what you notice with

d : a0

your friends.
Factors | v v
of 4 12 34
Factors
of 5 12345
Factors
of 6 123456
Factors
of 7 12345678
Factors
of 13 12345678 910 1112 13
Factors
of 16 12345678 92910 1112 13 14 15 16
Factors
of 18 12345678 910 1112 13 14 15 16 17 18

Basically, vou need to start by 1 and then going on
with 2 and so on. But finding the pair of factors
help us find all the factors without omission.

Factors
of 18

v
6

v
78 910

11 12 13 14 15 16 17

18

M7 2)% (310 @24 (5 36

78
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v
,.-: . We have to divide 12 candies and 18 pieces of chocolate into
m equal tumbers and putting them on same plates. How many
Y | plates can we have to put candies or pieces of chocolate without

having any remaining?
If we have 1 plate, we can put 12 candies and 18 pieces
of chocolate on it,
If we have 2 plates, we can put 6 candies and 9 pieces
of chocolate each...

@3 . | Oh, it’s a question of factors! Let’s find factors of
507 \12and 18,

e [ TE04 s m .

Factors ‘((f

of 18 1 456?391[}1112 13 1415161?1‘%
_-____,_ﬂ-"'-.--_
If we have 3 plates, we If we have 4 plates, we can put 3

can put 4 candies and 6 candies and 4 chocolates in each
pieces of chocolate plate. But therewill remain some
cach. chocolates.

Answer: 1, 2, 3, and 6 plates without having any candies or pieces of
chocolate remaining.

The numbers that are factors of both 12 and 18 are called the
common factors of 12 and 18.
The common factors of 12 and 18 are:1, 2, 3, and 6.

factors of 12 factors of 18

4 12 9 18

79
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' Find the common factors of 24 and 36.
[ Let’s compare these two ideas and explain how to do i, ]7?\

e PDPPPs, B,
badda ,

Factormof24: 1,2, 3,4, 6, 8,12,

Factors of 36:

Factors of 24:

Mukta| S8 | | Factors of 36:

Devid

Answer:The common factors of 24 and 36 are 1, 2, 3, 4, 6 and 12,
[The largest commeon factor of two numbers is called the highest]

common factor (HCF).

The highest common factors of 24 and 36 is 12,
Find the common factors and the highest common factor(HCF).

5y
(1) 4,15

Factors of 4:  (1).2,4

Factors of 4:

1, 2,

3
X

Factorgs of 15: + x

Factors of 15: ()3, 5, 15

[Bothnfﬂlenumbersonlyhave 1 asammmnnfactor!;

(2) 9,27

W

Factors of 9:  (T3)9)

Factors of 27: (U39 27

Factors of 9:
Factors of 27:

13,9
v v

common factor (HCF) of 9 and 27!

[In this case, 9 itself is the highest
2 7 Llstauthcmmmnnfactmandtcﬂthehlghestcummnnfacmm(HCF) -{m

= @)12,20
(4) 8, 16,20

2)5,8
(5) 15, 18, 30

30

(3) 28, 42
(6) 12, 36, 60

=
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/& {mﬁ I have a piece of paper whichis 18 cm o

7 | longandIZGmwideandlspread

W 1 " squares of the same size all over the _/
' surface of the paper. g

[}
b

(1) Is it possible to spread squares whose side glﬁﬂ

is 2cm all over?

(2) Is it posgible to spread squares whose side $om

isfecmallover? 0 =

(3) What relation is there between 12, 18 and

the length of the side of the square?

4| We list the common factors of 12 and 18, right? |

Factors of 12:(1)2)(3) 4,(§) 12| |Factors of 12: 1,2, 3,4, 6,12
Factors of 18:(1}@) 3)E) 9, 18| |[Factors of 18: vV X + X

(5) How long is the length of the side of the biggest
possible square?

[In this question, the highest common factor (HCF) matters} H

81
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7.3 Prime Numbers

(“?)" Let's learn about Prime Numbers. ]

As the right table shows, 2, 3, §, 7 have

only 1 and themselves as their factors. Ef“ﬁ‘g“'{’ ‘{

These numbers are called prime numbers. g, 00

1 is not considered a prime number. of 18 'f 2 {

Numbers that are neither 1 nor prime | Factors| 7

numbers are called composite number. |of18 |1 2 3 4 5
Factors| ¢ v
ofl18 |1 2 3 4 5 6 7

@L&t’s find prime numbers up to 100.

1. Cross out 1.

2. Circle 2. Cross out all multiples of 2 that are larger than 2 itself.

3. Circle 3. Of the remaining numbers, cross out all multiples of 3 that
are larger than 3 itgelf,

4. Continue in this way until all the remaining numbers are crosses out.

—_

L[Let’s do a continuance by ourselves!

Bl S| 6[7[B 1p

%%% {a| 8] k|17 sl‘f:zb
We don’t have to cross .2($ 23| 34| 25 2'5 18] 29

out the multiples of 4 || 31| 3 | 9] 34| 35| 36| 37| 38| 29 %

because they arc also |41 |40 | 43| 44]| 45| 46| 47| 48] 49

S5 B ekl 51| % | 53| 44| 55| 35| 57| §8] 59| &

61| 6| 63| 44| 65| dp | 67| 68| 69 P

?1%?3 14| 75| 76| 77| 18| 75| ®

81|82 (83| 44( 85| 86 87| 8| 89( 9

91[9p [ 93] 44| 95| 96 [ 97| 98] 99 190
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2,3,5,7,11,13,17, 19, 23, 29, 31, 37,41, 43, 47,

WVJI Prime numbers up to 100 are as follows:

2020

53, 59, 61, 67,71, 73,79, B3, 89, 97

numbers can be made up by multiplication

(Why do we study Prime and Composite Numbers? e

Because we are able to "break apart” composite numbers into
prime number factors (prime factors). In other words, compogite

of prime numbers.
It is as if the prime numbers are the basic I
building blocks of all numbers.

[Example] @ :

_ $J2,3,5,7, and 11 are prime numbers.|

4=2x2  12=2x2x3 2072x2x5 42=2x3x7
81=3x3x3x3  210=2x3x5x7  3B5=5xTxll

[Thesecompositenum]msaremadeupby }

multiplication of prime numbers.
",..-I? Put 2, 3 or 5 in the blank to make up the following composite
numbets.
) 6= |x (2) 8= |[x| |x |:|

@ 18=[Ix[_Ix[| @ 30=[Ix[_x[]

83
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/;ﬂ Let’s try! divisibility of 2, 3, and 5 —
y

Y

a C’% Let’s try to predict divisibility of the numbers. |

» »” Find the numbers which are divisible by 2. Firstly, let’s predict it.

_-?‘-' Then do division to check it.
g) 224 b) 1146 ©) 2283 b) 135798

[We can distinguish by looking at the number of ones pla.ce.} g

Ifthereisa 0, 2, 4, 6, or 8 in the ones place, the number is a
multiple of 2. So they are divisible by 2.

@9 Find the mumbers which are divisible by 5.
§) 555 b) 354 c) 2230 d) 24685

[ This time, how do we find the rule? }

If there is a O or 5 in the ones place, those numbers are a
muliiple of 8. So they are divisible by 5.

(%:‘ Choose the number which is divisible by 3.

a) 261 b) 262 c) 263
261 262 30263

24 24 24
21 22 23
21 21 21

¢ 1 2

2-+6+1=9 2+6+2=10| |2+6+3=11
9+3=3 10=3=3R1| |11+3=3R2
It's a It’s not a It’zsnota
multiple multiple multiple
of 3. of 3. of 3,

If the sum of the digits of each place is a multiple of 3, the

number is a multiple of 3. So it is divisible by 3.
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;’{/ .7.4 Exercise
J’xﬂl List 3 multiples for the following numbers, ordering them from the
| smallest.
M4 @7 3 1 (4) 14

2. List 3 common multiples for the following pairs of numbers, ordering
them from the smallest. And also write the least common multiples

(LCMD.
M3,4 D49 (3)3,9 (@S58

3. List all the factors of the following numbers.

MY @12 (324 (4) 30

4. List all the commeon factors of the following numbers. And also write
the highest common factors (HCF) for each pair.

(139,15 (2)14,21 (3)24,40 (45,9

5. Find the least common multiples (LCM) and highest common factors
(HCF) for each.

(1) 8, 12,24 29,12, 18

6. Put 2, 3 or 5 in the blank to make up the composite number freely.
@y [ e[ ]=[] @ [ = J=[ = ]=[]
@ [ =[x Ix[]=[]

7. Find multiples of 2, 3 and § among numbers in the box.

248, 339, 121, 515, (1) multiples of 2 |
460, 912, 751, 555, (2) multiples of 3 [ ]
810, 951, 131, 725 (3) multiples of 5 [ ]
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/' 5 8. There are two bells. Bell A rings every 8 mimutes and bell B rings every

6 minutes. The bells ting together at noon. When is the next time they
will ring together?

9. 1 have a piece of paper with 36 cm long and f
24 cm wide and I want to spread squares of i
the same size all over the surface of the !
paper. How long is the length of the side of
the biggest square possible? i
10. We arrange rectangular tiles 5 cm long and o
7 ecm wide like the figure on the right to & (iJJ

make the smallest square possible. How :L___i___j___J___J_:
many cm are the sides of the smallest A S A
square we can make?

11. There are 45 apples and 18 oranges to Rasel. Rasel want to distribute
apples and oranges equally to maximum number of children without
any remaining. Find the number of children. And how many apples
and oranges do each children gets ?

" |[ﬁ:

O
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Chapter Eight
Fractions

i 8.1 Common fractions withthe same denominator

2020

@ Let’s review.
the part of the fraction,
1.Colour the following. 3 -

Remember the names UT .

4 «+

cajws | =

2. Put the symbols ‘<’ or >,

W15 @]+ @5 @]

3. Calculate:
11 2 4 5 1 3 7
D3 +753 @5+ Qg+t Qg+t
2 1 T .5 _2 _7
W2 -5 O - @ 1-5 @l-

&7
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y 7/
J ; |
4 W 8.2 Fractions smaller than 1, equal to 1, and larger than 1
I

¥
y g
V !

(CP) Let's classify fractions. |

| |

1 m —__-_h__"“--..
. .
5
iII:l
3
L m
5
Fractions can be classified like this;
Fractions Fractionsg Fractions
smaller than 1 equalto 1 larger than 1
numerator < numerator = numerator >
tor) tor)
Smaller —u 3 4 Larger —a 5
Larger — - 4 Boqual<"o 2 Smaller — = 4
3,1,2 6 etc 4,2,3. 7 ete 5,3,7,10 etc
4 2 3 7 4 2 3 7 4 2 3 7
Proper fraction Improper fraction

Fractions amaller than 1 are called proper fractlons, while fractions
equel to 1 or larger than 1 are called improper fractions.

[In grade 4, we will mainly study proper fraction and

fraction equal to 1. We are going to leam fraction larger
than 1 in Grade 5.
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;/ %83 Comparison of fraction

- (?Q Let*s find larger fractions and smaller fractions. J

(" Find larger or smaller. Put the symbol <’ or > . [Colour and

(D5 5 3
23
3
N I B
(@) 3 R i
8
[Dennmmators of each pturareequal.k

1 -'u.‘@ :"‘
1/l =
3)5 3 i
3
3
33 F
@5l g 3
10

[Numemmrs of each pair are equal. Whﬂdoyauthmk?}/ ;»
{W“--

If the demominators are the same, the fraction whose numerator is .'

bigger is larger. (We studied it in Grade 3)

If the numerators are the same, the fraction whose denominator is

. smaller is larger.
1 7 Arrange the following from smaller to larger and show it by
*~ symbols.
222 2 % 43 3 5555
D3eeys 7035 @ 06

< |

~ _;1]

i _,-




/ﬁ 8.4 Equivalent fractions

C?} Let's find equivalent fractions and develop its ides. |

’ Colour and Compare.

?
2
4
3
6
 §
8
5
10
% ,%,%,% and% are all equivalent fractions
1 2 3 4 5

1. 4 Using the number lines in the next page, find equivalent fractions

o
-

and show it by symbol ‘= T R
1 equivalent fractions
(1) Find equivalent fraction of 3 of any fraction!

(2) Find equivalent fraction of %

(3) Find other examples of equivalent fractions.

90




A
L1 2 1
1 | |
1 2
0 3 £y 1
l 1 1 1
1 2 3
0 4 4 4 1
| | | | ]
L 2 3 4
0 5 5 5 5 1
l | | | | |
L 2 3 3 =
0 [ 6 3 6 6 1
| | | | | | |
L 2 2 L =+ 5
0 7 7 7 7 7 7 1l
l | | | | | | |
1 2 2 e 3 £ z
0 8 B 8 8 B 8 B 1
| | | | | | | | |
2 2 32 £ 3. £ L &

0 9 9 9 9 9 9 9 9 1
l | | | | | | | | |
L 2 3 4 5 & 7 3 3
i) 10 16 10 10 10 10 10 10 10 1

| | |

1 2
W37 @
Is there any method to
make equivalent
fractions?

6 L1 6 3

O35 @35
Let’s study about it in

the next part.
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/ Thmkabuuthowtumakeeqmva]sntfmctmnsof%
Eqmvalent fractions can be

x 3 i 4 obtained by multiplying numerator
g e and denominator of the fraction by
xz the same number,
X X
@ __exa
] HxhA

e

3;- ” Find the missing numbers.

)

1 I:I 5 10 3 12 7 O
M 3=5 a}?_ﬁ (3);—5 W

‘mﬁ,

4 ' Makeﬁvaeqmvalentﬁ'acuonsuf frecly.

= »* Think about how to make equivalent fractions that are equivalent

6 .. 3 2 1
T __
- Equivalent fractions can also be
g + . obtained by dividing numerator
6 3 g 1 | and denominator of the fraction
12 6 = 4 = 73 by thesame number.
<2 + = & = 9+ A
| H+-A

i

5 ” Find the missing numbers .

B3T3 @3 |:| ©12 “20 5

||.u|.u|.u*
8 !

7 Mﬂkﬂﬂﬂfeﬁequlvﬂlentﬁ'acnnnsnf—bymwdmgnumemarand
denominator of the fraction by the samenumber I|I_
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/1 fractions are equivalent, the simpler one is casier...

) Dividing the mumerator and denominator by the same mumber
'in order to make a fraction with a smaller denominator is
called reducing a fraction.

To reduce a fraction, divide both the numerator and the denominator by a
common factor.

Dividing by 2 and then
by 2 is the same as

dividing by 4...
)ﬁw < And 4 is the HCF of 16 and 20

"When reducing fractions, we typically make the denominator as |
small as possible and get the lowest term of the fraction.

We can easily get the lowest term, dividing by the highest
commen factor (HCF) of the denominator and the mumerator,

T4
f

Reduce the following fractions to the lowest term.

W O O O O OF
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/m 8.5 Exercise (1)

4
/ o 1. Find proper fractions and fractions equal to 1 in the box.
'J 1 er fractions are:
s 2458313
( )| ¥R
(2) fractions equal to Lare: | 27,1 76 42 2 3
[ ] 26 1 76 48 25 3

2. Arrange the followings from smaller to larger and show it by symbols.
(1)6 i ¥ 2 (2)4 4 4 1(3)11 11 11 11

TTTT TT519 231317 91
3. Find the missing number.
1_LJ 3 O 3 O 4_12
) 3 6 2 7 28 (3) i % (4) 570
2 16 5 30 3 [ 12 []
O30 @30 P57z Oxns
28 [] 33 1 5 1 12 2
® % 9 (10) % ] { I)E—E (12) 547
4. Reduce the following fractions to the lowest term.
6 3 9 16 8 G
N — (2 = . @ 2 B 2
Q) o ) - (3) 3 @) = &) = (6) g
20 32 18 16 28 24
= %= O = Q0o = 11y = a2 =
('3')25():“s ()30()28()49(}40

Yes. And we cando a
lot of things with this
idea. Let’s see it in the
next sections.

how to make

We have mastered

[
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8.6 Finding the common denominator

(Z2)7 Let's study about fractions with different denominator. )

@ You have % mlongredn“bbunand%m
long blue one.
(1) Which is longer ?

fractions into the ones with || are the same, then the fraction with

rﬁhy don’t we convert these ||Oh, yes. When the denommamml
the common demominator? || bigger which numerator is larger.

|
2_4_6_8y 8_9
A 3Te Ty T 2 12
3 6 9 2 3
il = .-._{_
4 8 12 3 4
Answer: Blue ribbon is longer.
(2) What is the difference of length ?
When we find the difference, we subtract:
“larger mumber — smaller number™ .
Butwecannutdo%—%.Howcanwedo?

EWmtlEvenﬂmughwecmmtdu mmcﬂyi—%,wemdoﬁ—%

i 2 9 8 1

4 3 12 12 12

Answer:thedifferenueis%m

95




Wow, if we convert fractions into the fractions with common
denominator, that enables us not only find larger or smaller
of the fractions but also do subtraction and addition!

And then convert fractions into fractions with common

OK. Firstly let’s study how to find a common denominator.
denominator.

.
= N

(%‘ Convert%anﬂ% inte fractions with common denominators.
3_6 _9% 12 [ )
C;-j ? : @ . —p 5,10, 03 20...
= S ox = — 3,69 12,(1%..
ONCEONY i
Do you remember
. what they were?

5. Moreover 15 is also the least common
f multiples (LCM) of 3 and 5!

Tom Yes, 15 is the multiple of both 3 and

L
To find a common denominator of the fractions at a time:

1. Find a common multiple of the denominators.

2, Convert the fractions so that they have the same denominator,
We typically use the least common multiples (LCM) of the original
denominators.




L
7 |

/ﬂ 1_; } Convert into fractions with common denominators.
J L I|

o~ ] ofd—
o F— | epi—
olh—| | whi—{
ohd—l | ol
@:5§%~j ]u@%%%qj i

*:’f Convert into the fractions with common denominators and com-
*  pare with the symbols ‘<’ ,*> or <,

O 0y o037 e20% wlilpl

Now, we have mastered how to convert fractions
intp the fractions with common denominator,

QK, let’ Eﬂpplythlaildeatuaddlhunandsubtmctmn
of fractions with different denominators.

97
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(ﬂ"' ContmnerAhas— litre of water. And container B has - 1 litre of

water. How many litre of water in all?

/ﬁ 8.7 Addition and Subtraction of Fractions

/"R

+
~P-
+
3 2
6 6

Answer% litre.

To add fractions with different denominators, firstly convert fractions |
\into fractions with common dencminator and then calculate.

1: 7 Add:
ot BER oisAIA
gty %’% =% g+




w Yuuhave—hﬁeufmﬂkandyuuvetaken litre. How many litre

A(Itsapmblemforarcmainder,sulhecpemﬁonis )
2 1
. % Mathﬁmatlcalsenteme% - %
o _ Calculation:
2_1_8_3

3 4 12 12

Answer: 2 litre.

8 3 12

1 12

'To subfract fractions with different denominators, first we convert |
fractions into the fractions with common denominator and then

1; Subtract :
(1) L-i:Q_gJ; (z)i_i=g_g=g
>3 O00 9 s 000
(3)1—£=—|:|——g=l.]_. (4)i_i=g_g=g
s sTO0 0 ®veToon
o:y ek
< |
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1 1 . 4 % F % 9
_+_ — e — ] — — i — T —
M 3+% 36 6 % €2
1 1 1 1 3 1 % 1
@25 TTETEETRS

’_ If applicable, reduce the fraction to its lowest term.

2 7 Do addition and subtraction,

( We must be careful about not to forget reducing. |,

| 4 1 8 3

D5t Dt tiy B et Bty ) S+
OL-% D1-+ ®OF-& OG- W3-

@ Do calculations with three fractions.

1 1 1
Ws+3+7
3
1. 1.1 _2 4 3 "8 3
?*?*T‘12+12+12‘13‘4
1 1
@A 1-3-7
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/’/ 8.8 Exercise (2)

1. Convert into fractions with commnon denominators and compare with
" ¥ thesymbols < , = or <=,

3 @70 O30y @705 © 5l
2.Add :
Ok @ ot eid e g
Be careful.

© 245 N 3+e @ gtie Ors+e (10) ¢+

Every time after the calculation, we need to
check whether reducing is needed or not.

1 1 5 2 1 1 4 1 117
WD5-7 D5 x5 @5-¢ O 59

Be careful.
9 2 7 1 4 1 2 7 9 5
(6) 0°5 N7 (S)E_? Gj?“ﬁ (10) e

4, Calaulate :

1 o152 S L. 3 3.1
O sritp @ty O3y @5+
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S.Dncalculation.
' 1 13 5,1 32 5 L1 23
e 15 @7+s=355 G722
6. Sabuj’s house is %kmtothewest of the school. Mitu’s house is ls—zkm
to the east of her house.
Babuj'a honse School luﬁtn’n]m!me
ﬂp -‘ ‘3 "
@.ﬁ f*.*rnzr"ﬂ
3 5
g km 12 km

{1) How many km is it from Sabuj’s house to Mitu’s house?
{2) Whose house i nearer to school? And how many km ig the
difference?
7. A farmer plated brinjal in%part,cahbagein% part and flowers in

%partafhisgardm

(1) How much part of garden did he plant?

(2) How much part of the garden remained blank?

= | =i
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Chapter Nine
Decimals

9.1 Decimals

(\'%2 Let’s study another way to represent the fraction amount, ]

(o Toer s some water inajug. The Qf

% water is poured into three mugs of

one litre each.The third mugp is 5
not full as the picture shows. How @

much water is in the third mug?

1
When we represent the fractional a.mmmt,weuftenuseﬁ of the original
umnit.
1
The volume of 10 of 1 litre is “0.1 litre”, and written and read

“zero point one litre” in words.

5

: 1.
0.1 litre = - litre

3 0.1 litre (N

The third mug cnnminsﬁ litre.

:—0 litre is three times of 0.1 litre, so it"s 0.3 litre.

In the jug, there was 2 litres and 0.3 Htre of water which can be represented

by 2.3 litres and read two point three litres in words.
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Numberssuchasﬁ] 0.3, 2.3 and so on are called decimals and “.” is

' 1F|calledadedmalpolnt

nﬁt&} ome | tenths The place to the right of the decimal
P 2 | 3 point is called:

Iﬁ:;dt? two three the temths place ( %s place).

In contrast, numbers which we have studied such as 0, 1,
2, and s0 on, without fraction part, are called integers.

TR

1 7 Represent the following volumes using decimals and write in
7 words.
M @) i), ey
— 1L —1L i_lL :lL |
i{i): b —H— —He— 1L
i 2 5 = | that “L” is
i — = e . i ghort for “litre,”

06 1.7 2 Decimals
4 113 36.8 Integers
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W How many centimetres is the length of the red tape?

Rmnembm‘ that ‘cm’ is short for ‘centimetre’ | %
and “mm” is short for ‘millimetre.’

(1) What is the length of the tape?

(2) How many c¢m is 1 mm? cm

(3) How can you write 4 mm in ¢m?

(4) How can you write 7 cm 4 mm in cm?

(ﬂ" The weight of the oranges is 1 kilogram 500 gram. How ﬁmy
' _ﬁf kilograms is the weight of the oranges?
‘kg’ is short for ‘kilogram’ and ‘g’
is short for ‘gram.’
{1) How ¢an you write 100g in kg?

(Rember that 1000 gram is -.=:qun.ralentj>
to 1 kilogram.

(2) How can you write 500g in kg?

(3) How can you write 1kg 500g in kg?

We use decimals in many situation in our daily
life. Let’s learn more about decimals.
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9.2 Size of decimals

(%Q Let’s compare the size nfdecnnals]

I.Whatnum]:ersarerepresentedfotA, B, C and D on the
v  number line?

2, Put these numbers on the number line above.

0.9, 0.5, 2.6, and 3.2
3. How many 0.1s consist in 0.5, 1.8 and 3.37

Loy B, 1 i it 1

[T N T T T T T T T A T T Y O Y T O Y O O 0

4, Answer the following questions. “0° can  be
a) Write the mumber made of twenty five 0.1s. expressed as “2.”

b) Write the number made of twenty 0.1s.
¢) How many 0.1s make 3.27
d) How many 18 and 0.1s make 3.27

5. Which is larger 2.1 or 1.37

I put these numbers on the

mumber line to compare 4 1 3
% their size. The rumber on Loeteons lonintinileis |
g/ b the right is larger,

“Rita
([ 2.1 is made of twenty one 0.1s.
. 1.3 i3 made of thirteen 0.1s.  So,2.1>1.3

17 Which is larger? Write'<” or'>’
W24 |18 @3] Jos @)7.1[ |68 @o[ Jo1 (
106
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W (‘ﬁd 1Wl:lic:hislarge:r,,12—‘0 or 0.37
| (Oh...how can we compare fractions and decimals?-> /#
I think about the I 'think about the
number of 0.1s number of — s
2'n:lau:];e:f1:'uIi|'¢:ul]1 2'nmdue:if'twl
WIS 0 A8, W‘lﬂ O Uw.
0.3 iz made of three 0.1s. 0.3ismadeufthrw11—os.
2
o .3 2
10 ..E{O.S

[I.ct’s clarify the relation between common fractmns} @:\

and decimals on the number line.

0 1
I | | | | | | | | | I
0 01 02 03 04 05 06 0.7 08 09 1

i,

LI Which is larger? Represent with Relation Symbols (<, > or =),

8 3 3 10
Wg o7 @o3l |5y @oill7y @ jyLlos

g <l
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9.3 Addition and Subtraction of Decimals (1)
(?Q Let’s try addition and subtraction of decimals, ]

Container A has 0.5 litre of water. And —1L —1L
container B has 0.3 litre of water.

(1) How many litre of water in all? :_
To find total amount, we -
choose[ |

A Mathematical sentence is:

[Let’s think about how many 0.1s are there in the mlmbers}> L '
Calculation is...

0.5 iz made of five 0.18 and 0.3 is made of three 0.1s.
In all, there are (5 + 3) 0.1s. .~ The answer is: 0.8 litre

(2) How much more water in A than B?
To find difference in the amount of water, !
we choose[ . ?\ b
Mathematical sentence is;
Calculation is...

(five 0.18) — (three 0.15) So difference is (5 —3) 0.1s.
+ The answer is: 0.2 litre

T .

1_1 4 Do addition and subtraction.
()03+04 (2)0.7+02 (3)05+05 (4)09+0.3 4L
(5H08-06 B07-0G2 (N1-03 (8)1.6—04
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J As we see, if we think about how many 0.1s are there in the mumbers,
*"r_l‘ we can calculate in almost the same way as of integers.
| |

. | 80 we can do vertical calculation! |
f 1:9 24| (Yes, and it's important to

4
i 421; = ?g line up the places property.

The rules of the vertical calculation:
1. Line up the places vertically.
2. Calculate in the same way as addition and subtraction of integers.
3. Place a decimal point in the angwer, lining it up with the decimal
points above.

Ekndwen:lustbv::ca.refulal:outsmm‘.':mom:poin’rs.]>

(&7 Do adition end subtraction.

O (L3+27 v 1.3 13+27=40
+ 2.7 But we write it just 4.
4.0 v'13+27=4
2)7+55 x 7 ¥ 7,0—="Thinkabout
+ 5.5 + 5.5 7 a8 7.0.
6.2 12.5
BG)5-03 X S5 « 5.0 Think about
—s kb — 0.3 as 5.0.
0.2 4.7
4)36—2.8
® 3.6 3.6 Don’t forget to
- 2.8 - 2.8 put"."and“ﬂ”
X 0.8 v 0.8 in ones place.

g <|
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9.4 Exercise (1)

//,; 1.Which is larger? Represent with Relation Symbols (<, > or =).
| ()04 107 (560165 (0110 @H11[]1.1
3
65105 ©071- MOI T @[]
2. Addition and Subtraction:
()0.6+04 (2)08+05 (3)0.6+07 (4)18+02
(5)0.7-04 (6)1-02 (7)1.2-03 (8)2-04

3. Do vertical calculation.

Mi1.2 @ 28 GBa7 @ 3 G) 4.1
+3.6 +1.5 +3.9 +6.8 +3.9

® 3.4 O 5 ® 7.6 9 6.3 (10) 9 1
—1.3 —2.8 —1.6 —5.5 —8.9

4, Gautam's house is 8.2 km to the west of the school. Shima’s house is
9 km to the east of her house.

8.2km

(1) How many kilometre is it from Gautam’s house to Shima's house? ke

(2) How many kilometre is the distance from school to Shima’s house
than the distance from school to Gautam’s house?

2020

110




/7
9.5 Hundredths and Thousandths place

| ((“2)7 Let's study how to represent the smaller decimal. ]

(ﬂ‘ How can we represent the following amount of water?

5
4 W

H— | 1L [O.Bisnntenuugh,ﬂ:m
_ — is still remaining!
= =
| S
[Wenwdtu divide 0.1 hm:]7 ‘%\
into 10 equal parts. & Y
%ufl litre —— 0.1 litre — S

%uf 0.1 litre —— 0.01 litre(zero point zero one litre)

LAnd 0.01 litre is 55

100
Total amount is:
one 1 litre — | | litre
three 0.1s litre — | | litre
six 0.01s litrte —— | litre
1.3 6 litre
(one point three six litre)

111
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Then what if there is much smaller
amount? For example. ..

[T.hsn we need to divide 0.01 litre
into 10 equal parts,

1 2
5T of 0.01 litre——0.001 litre (zero point zero zero one litre)

And 0.001 litre is | In this case,

1 ) there are elght 0.001 litre. So
— of 1litre. A .
1000 Total amount is: 1.358 litre
Name tenth hnndredths thousandths
ﬂfﬂlﬂ nne
pase ( 5) ( 5) (wm s)
1 | 3 5 8
H::d | one three five eight

The place to the right of the thenths place is called
1
the hundredths place (ﬁs place),
The place to the right of the hundredths place is called
1
35 )
the thonsandths place (1 000 s place).

112 |
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100 times

(times 0 times

1000 times

0 times

~ Each numeral in the decimsl has a fixed place and is
10 times of the right or %nfﬂ:eleﬁ.

How many 1s, 0.1s, 0.01s, and 0.001 are combined in these numbers

(1)1.468  (2)3.825

1.469 combines
one 1s
four 0.1s

0.01s
0.001s

(3)0.017
3.825 combines 0.017 combines
1s 1s
0.1s 0.1s
0.01s 0.01s
0.001s 0.001s
<|
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/ ﬂ 1. How many 0.01s are combined to make these numbers?
A-T | (1)0.23 (2)4.23 (3)807 (4)1146 (5114

[Lat’s think about how many 0.01s are them}
in the numbers. ﬂ;

~
l'
f

Three 0.018 12 0.03...
Twenty-three 0.015 is 0.23...
Four hundred and twenty-three 0.01s is 4.23...

2. How many 0.001s are combined to make these mmmbers?
(1) 0.015 (2) 0.478 (3)2.075 {4)4.23

HHII:HM-

Answerthe questions,

a) Write the number made of one hundred and fifty five 0.01s.
b) Write the number made of one hundred and fifty five 0.001s.
¢) How many 0.013 make 6.827

d) How many 0.001s make 6.827

il

2 7 1. What numbers are represented for A to G on the number line?

| Ti’%?i""i‘%‘s
?@“’?‘“‘F%I"F’I%’?‘

2. Represent these numbers on the mmber line.
0.001, 0.015, 0.027, 0.034 = [k

2020
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7
L .
;’j ﬂ Multiply 0.56 by 10 and 100. And also divide it by 10.
e J| 4

(056 is made by combining fifty six 0.01s. So...5

10 times 0.56 equals to:

56 of 10 times 0.01 B 56 of 0.1
100 times 0.56 equals to:

56 of 100 times 0.01 B 56 of 1
0.56 divided by 10 equals to:

56 of 0.01 divided by 10 B) 56 0f0.001 B 0.056

fexs ones tenths hudmlth:hnmdﬂJ
& | ) | (Ew
m 6 | » <
L] __ 10tmes |
> ?l. 6 lal_ S g | s
0 5 N 6 o 1
o] | [o 5 6] [« 12—

Each place in a decimal number increases by one place
when you multiply by 10 and decreases by one place
. 'when you divide by 10.

3 /° Multiply the following numbers by 10. And also divide them by
;

10.

(1) 0.6

(2)0.49

(3) 1.11 (4)7.32

< |
|

| Lo

8
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9.6 Addition and Subtraction of Decimals (2)

| (%27 Let's ry calculation with hundredths and thousandths place. )

(_@;‘ Samson traveled 5.52 kilometre by | ey
% bus and 2.65 kilometre by boat.
Howmuchtotalpathdldhe trave]? g
. To find total amount, the ik
‘ operationis| |
i Let's think sbout how
Mathem.ittlca.llsentence— many 0.01s are there in
Calculation is... 5 52 the numbers.
: We can calculate in
+2.65 almost the same way as
8.17 of intepers.
Answer: 8.17 kilometer

(@" Hasan’s bag weighs 4.8 kilogram and

mpaswelghs359kllugmm
What is the difference in weight in
kilogram?
When we find difference we
use[ .
Mathematical sentence: Line up the
1 places. And
4.80 Think about 4.8
—-3.59 as 4.80.
1.21

Answer: 1.21 kilograms difference
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*&)‘ Do addition and subtraction carefully,

HIHII-'II:

1

13 4.06 +2.94
M v4.06 4.06+2.94=7.00
+2.94 But we write it just 7.
7.98, Y4.06+294=7
(D) 6+4.85 x 6 ¥6.00 Think about
+4.85 +4.85 6 as 6.00.
4.91 10.85
(3)4-231 ® 4 v4.00 Think about
-2.31 -2.31 4 as 4.00.
2.33 1.69
(4)3.75—-05 3.75 3.75 Think about )
— 0.5 —-0.50 0.5 as 0.50. |
3,70 7325 \
Don’t forget
(5) T.SB— 6.8? ":.' . 5 8 "}" . 5 s tﬂpllt“.”ﬂnd
-6.87 -6.87 “0" in ones
x 71  ¥0.71 < place. )
Doverl:lcalcalculatmns.
M3 27 Do.28 Bg 07 @ 3 14
+2.51 +6.72 +3.6 +93:373
Os 47 @g26 V4. B 5652
-3.25 -—3.4 -2.25 -6.648
'<'.:||
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ﬁ 9.7 Decimal and Fraction

.

V i (?Q Let’s try to converse dicemals and fractions each other. J

(7" Express 0.3, 0.15, and 0.008 as fractions.

‘We have studied,w
_ U O1= -
1
0.15= 1;' 0.01= m,
[ 0.001 =
0.008 = 1000 1000 7
‘We can express decimals as fractions by using 10, 100, 1000 and so

on in the denominator.

Then if applicable, reduce the answer to get the lowest term,

L
3 3,
“ha 3 B 1
0= 30" 20 9%~ 13
20 ~250.
125

e, Convert the decimals into fractions. And if applicable, reduce the
= answer to get the lowest term,

()055 (2004 (3075  (4)0.25

Then I think we can also express fractions as decimals =
with the same way, by using 10, 160, 1000 and so on :
in the denominator.
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27 341 .
,.f‘ ﬂ 1 Express 10 100° Togg 28 decimals.

27 341
2-03 I -0z fo=0341

7 17
2. Express g
20 35’ 50 #%

How sbout making equivalent fraction £ % 5 %
with 10, 100, lUOOandsuonmai 15

; 20 100
denominator? x50

3 _ 3x5 _ 15

0 - 20x5 100 oS
7 _ Tx4 _ 28 _

35 = 25x4 100 028
17 _ 17x2 _ 34 _o.,

50 50x2 100

Can we convert 1| [1 think it’s difficult

: . 3 ||But in the s¢
into decimals? level, we may solve it.

We can express fractions as decimals by using 10, 100, 1000 and so |
on in the denominator, but not for all the fractions.

24 " Convert the fractions into decimals.
7 11 37 1
(1) 30 (2) 75 (3) 50 4 =T "ﬂ"’
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9.8 Exercise (2)
1. Represent these numbers on the number line.
0.881, 0.889, 0.895, 0.899, 0.901

0. ES 0.89 0.9 0.91

2. How many 0.001s are combined to make these numbers?
(1)0.031 (2)029  (3) 1.047 (4) 1.03

3. Multiply the following numbers by 10. And also divide them by 10.
(1)0.6 (2) 0.49 (3)1.11 (4)7.32

4, Do vertical calculation.
(1) (2) (3) (4) (5)
3.57 4.38 6.25 0.82 3.079
+1.24 +3.7 +1.55 +2.39 +0.921

(6 9 ® ® (10)
5.38 8.65 7.2 9 1.467
-2.19 =-0.7 -5.37 =-0.42 =0.397

3. Convert the fractions into decimals and decimalg into fractions. If possible,

reduce the fraction to get the lowest term,

Ba @5 OF @06 (5025

6. Yesterday’s highest temperature was 32.55
degrees Celsius and today’s was 28.87 degrees.

Find the difference?

7. You have following four cards and make

decimals using the format on the right.
1 8 [s5] [9

(1) What is the largest number you can make? »

(2) What is the smallest mumber you can make?

(6) 0.075
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Chapter Ten
Measurement
10.1 Length and Perimeter

C?R Let’s convert the unit of lengths: km, m ,cm, and mm, )

[Let’s review relation among the umit of lwgth]’ N

il

o
1 If
F

km m cm mm
(kilometre} | (metre) | (centimetre) | (millimetre)
1km = 1000 m

Ilm = 100cm
lem = 10mm
1 mm

The height of Monindra Tripura is 1 m 42 ecm

(1) Express in “cm.”
1 m =100 ¢cm -1 m42 ¢m =142 ¢m
(2) Express in *m.”
0.lm — 40cm =(04m

I0cm =

lem = 00lm — 2cm = 002m =205
~lmd2em =1.42 m
Express these lengths in “m” and “cm.”
m m
/ 3
3m78cm 1 2mbécm v
cm Bucarnﬁﬂ.\ao cIm
< |
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{ -
: 'n (%; Express the length of the pencil in ‘om’ and ‘mm’.

Answer7.9 ¢cm / 79 mm

2 7 Express these lengths in “cm.” “mm,” and in both.
r,

/ cm / 11;21;111

cm mm I cm | |mm |

¥
\\ 35 mm \\ mm

3 7 Measure different objects from your surrounding environment (e.g.
¥ book, stick, table, brick,etc.) and express in “m,” “cm,” and “mm.”

(?; Express 3796 metre in “km.”

]

700m = 0.7km

Wm = [ Jkm
6bm = 0.006km

A~3796m = 3,796 km

4J. ;” Express these lengths in ‘km,” ‘m,” and in both.

/ km / km

{ 3km 70 m !

\ 8848 m \ m

5!_;? For a marathon, a runner runs 42.195 km. Express 42.195 km in ‘mi

122
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.*)ﬂ. ~I
!_J-“;j‘%‘ @Measumthstotallengﬂmfﬂmsidesufeachshapcusingcmscalc.
' | |
4 | |

() @

3)

cm

The total distance around the edge of the figure is called perimeter.

@ Find the perimeter of the following rectangular and square.
(2)/

4
]
i
s
I
i
[}

(1}'
3 ¢m
4 em

L
L]
1
1
1
1

L)
%
%
L}

=

=

5

" -
"te- Sem -

L]

u

I remember that the
[And four sides uff

opposite sides of a
rectangle have the same asqumhavethe

length.

4x4=

(3+5)x2=

cm

cm
6 Measure and calculate perimeter of the shapes around you.

g <
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10.2 Weight
(6} Let’s convert the unit of weight: kg and g. ]
kg = gm‘ The back pack weighs 8245g.

(kilogram) (gram)
1kg ; 1000 g

Let’s convert the unit of weight
from g into kg.

(%f You weigh something with a

8000g = 8kg
200g = kg
40 ¢ = 0.04 kg
5g = kg
~8245g =  8.245kg
set of standard weights.

sg 0g 20g S0g 100g zﬂﬂg

How heavy are they? Express in “kg” and “g”

1 (500 g, 200 g, kg
W) ‘ L £50g,10g ] g
1 kg, 500 g, 200 7
g 100 g, 20g,
‘ 410 g5 .
Express ﬂ'le Wﬂlghts in “kg,” ng:s ﬂﬂd in bOﬂl.
7 soeke ke -

R - S \ I -

"’5‘ i

10kg 900 g x




7/
/ ﬂ 10.3 Volume of liquid
Ff L -,
|

@ Let’s learn a new unit of volume of liquid and use it.

)

To weigh small amount of liquid, we use “deciliter (dI)” and “millilitre
(ml).'!!

' som £ Wawem  Ssm
| 2a 5d ﬁ # osa
L__ - B

We also use “cc” as unit of
volume of liquid.
Iec=1ml
(cc = cubic centimeter)

(litre) | (deciliter)
1L == 10dl
1dl

(millilitre)
= 1000 ml
# 100 ml

Kazol bought 1L of milk and drank 250 ml of it. How much milk
remains?

1L = 1000 ml
So
1000 — 250 =750

Answer: 750 ml

&

250ml =0.25L

1-025=0.75
Answer: 0.75 L

1 7 Both are correct . Dipika thinks in millilitre and Arun thinks in
! litre. Express these volume in “L,” *ml,” in both and “dl”,

125
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10.4 Exercise (1)

1. Fill in the blank boxes.

(8mm =[ |em @3m7em= [ |em
()42km = [ |m (5)600g = kg
(3545L = |ml=[ |d
2. Length and width of the surface of Apu’s

desk are 62.5 cm and 45.6 em. How long is  45.6

the perimeter of the table? Express in “cm™ %

and “m.” L

cm m 62.5 cm

3. Hasan bought1.5 kg of meat for his family. After that they ate some of

them, 895 g remains. How much meat did they eat?
Express in ‘Skg'l! and I-lg"”

kg g
4. Shampa drank 340 ml of water for breakfast, 380
ml for hnch, and 300 ml for dinner. How much
water did she drink in total?
Expmss in lr(mll'! ’ ﬂ:dll‘! and ﬂ-L.I'!

ml dl

L

5. The distance from Aryn’s house to his uncle’s is 9.8 km, He walks 950
m to the bus stop and he moves 6.5 km on a bus. How long remains

to go to uncle’s house?
Express in “km” and “m.”

km m

126



5
4

..'jf’/
10,5 Area

F
r
4
-+
i

’}; o
! Qﬂ? Let’s think about how to describe size of the surface. ]

ich is A or ow c
(%," Which is larger, A or B? How do you compare?
' A B

Um...the basic way is cut out them or trace themon a
piece of thin paper, then overlap them to compare.

—
~

Answer: A is larger than B.

= the surface and compare on the basis of how amount of place

If we cannot cut out or trace them, we can spread something on
g\ﬁ' that object occupies

Yes, but [ don’t think “these” arc enough. We need '%J“
a specific unit of international standard. a2 B

g —

127
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The amount of space inside the boundary of a flat object is called
“area”. Area is expressed in terms of the number of squares with
1 cm on each side.

The area of square with 1 cm each side is called 1 ﬂni; lens?
1 square centimeter and written aglem?, e
cm?® is & unit of area. 1 em?

We can spread squares of 1¢m? on the surface and count
the number to find the arca.

graph paper spacing of 1 cm x 1cm.

Yes. But we can also think about it with the ]‘> T

@ Which is larger, A or B? How many cm? i3 the difference? -

lom
A B tom!
1| 6
9 1| 5
3 2 |6
4 3
5 4
The area of Aig | 25 |1 cm?, g0 it’s area is em?,
The area of B ig 1 ¢m?, o it’s area is em?,
Angwer: is bigger than by cm?
<

128



(£
‘:,',:,F What is the area of each of the shapes below in cm?.

A B G
D
G
F
lem!
_ Tem
Draw freely various shapes with an area of 8 cm?. .
3 om
lm:
<l

129
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We count the number of squares of 1em? to figure out the
area. So, 1 think some area can be found with calculation.

Thmkabmrthuwtnﬁndthe areaoffollomngrectanglamtn
calculatmn

“Fam lem
There are 4 columns of 3
squares stacked vertically.
Mathematical sentence is: X - A g i

Find the area of following square with calculation.

Mathematicl sentence is:

3om)|

Area of the square 1is: cm?

The formulas for finding the area of rectangles and squares are below:

Area of a rectangle = length x width
Area of a square =1 gide x 1 gide

130
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. §@ 'y 7 Find the area using the formula.
1 (1) The rectangle of 21 cm long and 15¢m wide.

(2) The square with 10 cm sides.

2 7 What is the width of the rectangle on 56 cm?
the right?

7~ T Bem
(y This is the size of Ripa’s classroom. Find the area of the floor.

l.ﬂl:]l]ﬁ calculation, we need to convert
the unit.

61;1"%_‘ BEEEE 6 m= 600 cm
: 3l 7m =700 cm
l:].t]lz]- Area is; 600 x 700 = 420000

[ Let’s use the formula. But before the

IBEEE Answer: 420000 o
______________ Bk tie muatibr 8 il ks
""""" Tm " . — .

Wow, great! You're right, and mentioned
good point, Rezal
In this case, we can use another unit.
‘We can use the area of a square with 1 m sides. 1m?
m’ is a basic unit of arca. o em®)
Mathematical sentence: 6 X 7=42 b
Answer: 42 m* 1 ml
1 _| As Reza found, 42 m?= 420000 cm?
\J) ) Because 1 m?= 10000 cm? (100 cm x 100 cm)
< |
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This is the part of the map of the area near the parliament building
in Dhaka. One side of the square iz 1 km.

How do you express the area?

{%m: | 2
““““m?' (}mu

The unit used for large areas of land like towns and districts is the area of
8 square with 1 km sides.
It is 1 square kilometre, and written as 1km?

R T

3 7 Afootball field is rectangular in shape, and length of the longer
P gide is 100 m and the width is 70 m, Find the area of the field,

E T

4 7 Find the area of the rectangular piece of land that runs 2 km
/" cast-west and 3 km north-south.

+

5 7 Find the area of the square picce of land with 10 km sides. g‘
J

y;_\E—:— =

!

< [ %

L &
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10.6 Exercise (2)

' 1. Find the area.
(1) | (2) (3)
2 omj ;
“Fem  Sem) 9 cm|

"Xem

2. What is the length of the rectangular flowerbed below?

Al 112 m?

3. Find the area.
(1) A blackboard with 5 m length and 80 cm width.
(2) The surface of the rectangular table with a width of 150 cm and a

width of 2 m.
(3) A rectangular piece of land that runs 2 km east-west and 500 m
north-south.
4, Connect the dots,
(A) Area of a surface of the desk = « 200 km?
(B) Area of a flowerbed . s« 2250 cm?
(C) Area of & town . = 320m?
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Chapter Eleven
Time
'11.1 Time

(?Q Let’s convert the unit of time, add and subtract the time.

. S |

LN

;

[ Let’s review relation among the unit of time. P

month week hour minute

|_year 1.'.:1}r

1 yvears

+12 months

1 month -

- 4 weeks

(or, 4 we

eks and 2

or 3 days)

1 week «

» 7 days

1day < 24 hours

1 hour++ 60 minutes|

1 minute « 60 seconds

@Lﬁt’smnveﬂlhmn,lday,mdlweek,inmmnnds.

[ 1 minute is 60 seconds, so... }

(1) 1 hour = 60 minute = 60 X 60 second = 3600 second |
(2) 1day = 24 hour =24X36{!]§ecuﬂ= 86400 second

(3) 1weck= 7day =7 x 86400 Second = 604800 second

1; 4 Convert day, and week, into minutes. | 1 hour i 60
minutes, s0...

{1)1day = 24howr = minutes

{2) 1 week = = =
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/ﬂ Express following period in hour.

(1)3day (2) 1 week | 185 Is24 hoursand
1 week is 7days, so...
(3) 9 weeks and 6 days

(1) 3 days =3 % 24 hours = 72 hours 72 hours
(2) 1 week=T7days=7x24 hours=168 hours 168 hours

(3) 9 weeks and 6days = 9 X7 days+ 6days

63 days + 6 days

69 days

69 x 24 hours

1656 hours 1656 hours

(ﬂ" Sajjad and Shohag are two brothers. Age of Sajjad is 14 years 5
% months and the age of Shohag is 9 years 9 months. What is the
difference of their ages?

7 As we find difference, the operation should be L
8/ 1

[Why don’t we subtract in every unit?Smaller unit first ! 1@»
) B

and subtract in order like caleulation of integers?

e oo
(W3 SUZ  month]

- 92 : 9 5 — 9, but we cannot do it, so
..-io8..0 | move 1 year (= 12 months) and
 year | month ! subtract 9 from 17.
MB35 3 | 17-9=8

-1 9 1 9
r o [year] 13-9=4

The difference is: 4 years 8 months

135

o i

e -=



7—

/ E;y As of September, 2014, world record of men’s marathon and
women’s marathon are ag follows,

men’s marathon | 2:02:57 (2 hours 2 minutes 57 seconds)
women’s marathon| 2:15:25 (2 hours 15 minutes 25 seconds)

(1) What’s the difference between these two?

We can subtract in every umit, smaller | |
unit first and subtract in order. :

________________________ [second]
i hour | minute 1 second 1 25 — 57, but we cannot do it, s0
{2 | 1§14 25088 | move 1 minute (= 60 seconds)
_ 17737717797 §77771 | and subtract 57 from 85.
5 28 1 | 85-57=28

_________ 12 .28 .
[minute] 14-2 =12
|hour] 2-2 =0 ‘
The difference is: 12 minutes 28 geconds

(2) How do we calculate if we need to add these two times?

________________________ [second]
\ hour minute:second: 57+25=82,

2T 3EDTS | and82=60+22. s0 camry 1
+i 2 | 15 ! 25 ! | minute
4 | 18 1 22 |

________________________

[mingte] 2+15G1D>=18
[mmﬂ 2+2 =4 ] T
The total is: 4 hour 18 minutes 22 seconds
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11.2 Exercise

1. Express in seconds.
2 minmutes = 120 seconds 10 minutes = seconds
4 minutes = seconds 5 minutes = seconds
12 minutes = seconds 20 minutes = seconds

2. Express in days

48 hours = 2 days 2 weeks = days
72 hourg = days 3 weeks = days
120 hours = days 4 weeks= days

3. Add together and change them to hours and minutes.,

minute hour and minute
50 minutes + 30 minutes 80 minutes | 1 hour and 20 minutes
35 minytes + 35 minutes
60 minutes + 80 minytes
90 minutes + 45 minutes
120 minutes + 60 mimites

4. Salma is 10 years 9 months old and the age of Mita is 12 years 0 months.
What is the difference of their ages?

5. Masuda Begum is entitled to get leave for 3
months 3 weeks 12 days. She took leave for 2
months 4 weeks 3 days. How many days’ leave |- -
can she take more? (1month = 30days) =
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Chapter Twelve

Collection and Arrangement of Data

12.1 Making tables

C’j Let’s try to arrange the data on the table.

@fﬂp‘ Let’s think about how to count the number of the vehicles passing
X! in front of us.

We need to make a record,
Otherwise we may forget the || Then let’s use
number. tally marks.

(Tally marks are a quick way to g 5-,- 9 :‘
keep track of numbers in groups - 4
of five, Onc vatical lincismade [P |[#_|[W [ V]
for each of the first four mmmbers, 1 2 3 4
but the fifth line is drawn across # g
the previous four. Then continue -
making single marks again i’ || i |
This is very easy to count using 5 6

marks.

i y

<|
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| o> We would like to express the

/ Jﬂ ‘-"f‘_l’:’ number of the vehicles on the
y - | : table with tally marks. Let’s
1 complete the table on the right,

(%" Now let’s convert tally marks

5 into nuomeral characters to
remake the table. And add the
total number,

(1) Which one of the vehicles is most
used?

{2} Which one of the vehicles iz least
used?

Name of vehicles|Tally marks

Bicycle

Standard vehicle

Mortor cycle

Bus

CNG

Name of vehicles

Number

Bicycle

Stundard wehicle

Mortor cvele

Bus

CNG

Total

W

1 7

The teacher calls out the names of the fruits at random. Listen
carefully and keep track of numbers with tally marks. And after
that convert tally marks into numeral characters to complete the
table below.

Name of fruits
Orange

Banana

Apple

Guava
Total

Tally marks| Number
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/’ﬂ 12.2 Display with a Bar Diagram

E ! c?_\? Let’strytudispla}rthﬂdataunabardiagmn.]

(%T‘" The number of absentees of clags
a A in different days of the week is
given in the table on the right and
on the bar diagram below. Let’s

find how to read them.

The number of absentees of class A

(1) What is the title of the bar diagram?

(2) How many students does one mark on the vertical scale represent?

Number of
Day absent
students
Sundey 6
Monday 4
Tuesday 2
Wednesday 0
Thursdey 8
Total 20

(3) On which day were most of the students absent?

(4) On which day were all students present?
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r =+ The table on the right shows the [Animals  [Number of students
” animals that the students in Mita’s [Tiger 9
class like, Drawmebﬂmagrmn Rlephant 11

Hnwtodrawnbardingram Lion 7

E X Total 34
A 4 A4 4 % 4% & % £ Etep1: Draw a horizontal line 0A and a vertical
line OB.
0 o 1 = == Step 2: Draw some vertical lines oh OA keeping
EIHI I BN ecqual spaces between them. The mumber of Fines
should be more them the number of animals.
Step 3: Write the name of the snmmals inder
between two vertical lines following the figure.
Step 4: Daw some honzontal lines on OB
keeping equal spaces between them, The number
of lines should be more than the mumber of
stadents,
(0= 4 Step 5: Scale for the number of student on OB
73'— (ike 0, 5 and 10 students)
% bl L bk o[ ¢ )

L
||

|

|

|
AEREEERERRERER R

-9

Step 6: Draw bars on QA for each
animal according to the number of . [ |
students’ liking,

Step 7: Write title of horizontal axiz as
“name of animal” and vertical axis as
“mumber of student” ]
Step 8: Now write the title of the bar
diagram as “Favourite anitnal of the

141 L 4l
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ﬂ~ 12.3 Exercise
' 1 1. This is the memo of the sales of various

/.

4
/s

&
&

vegetables in a shop. Write the total with a

numeral characters,
Vegetables Tally marks Total
Lemon T L L LHT G0 LT W Mt L i
Cabbage | HT HH 14T 1M1 (M1 1)
Canliflower| IHT Ul 141 LI 1H EHT 3
pumpkin | {Hf W I
Total

2. Draw a bar diagram titled ‘number of the vehicles’ using the datain

P.139.

3. Compare these two diagrams. Can we say both of two are bar diagram?

Talk freely with your friends and give your opinion.

10

Mumber of stndents

mvourite frufts

182314

name of froits

142

favyurite frodiy
Banana
g
aaOrmge
E Guava
z
Others
0 5 10
mumber of shudents
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" Chapter Thirteen
/ ,,Vl Lines and Angles

'13.1 Lines

(?;2 Let’s learn about the lines and the relation of them. |

A gtraight line ig: 0 O i
- Straight (no curves) _;i_.....l-—--—';'i' i
- Endless (extendsinboth [ & | | =
directions without end) | Lite AB oxtefuds fwovert
- has no thickness Tblﬂﬂlll EEE
[Toshﬂwthecndlessncsswecandmwaltraightline -
like this: < ? )
=
L] " o
If it does have ends, it is: o *.(!{!L*""j{?'__ 2
A line segment. N i LIE,
: ende [T T
| |
If it hag just one end, it is: | | RS
| N ==
I i
- - |alw] | i i
ﬁ T Just like a...ray, } N w
= [ st ome end]
hf SEEEEEEEE
To show the endlessness of one side, we can draw
a ray like this: « >
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{%‘ Let's learn about ho;v lines meet or intersect each other.
& 4 o

.—.?-dil
.-:""'.F‘.
1
d e f

(We leamed right angle in

Grade 3.

‘P
= i |

g

A line is perpendicular to another if
it meets or intersects it at right angle.

The lines in the diagram d, e, and £, are perpendicular lines.
17 Look for perpendicular lines sround you. [T ENUNIH]
B NN




e Are there any lines which don’t meet or intersect each other?
a b ¢

< In the diagram 4 and b, two lines get closer each other ]
\and they will intersect.

Lines are parallel if they are always /
the same distance apart, and will

never meet. /

u
u
Inthédiagramc,thelinesarepamllel.Thepara]lel]inesareboth
perpendicular to the same line, and no matter how far you extend
them, they will never intersect.
el te Ll  We can imagine two
NN straight rail lines as the
model of parallel lines,

kiR

| 1“_-_;? Look for parallel lines around you.

= =
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6 Let’s draw perpendicular and parallel lines with set squares.
Perpendicular lines Parallel Hnes

44
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2]
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13.2 Angle

C’j Let’s find the gize of the angles and draw them. ]

Let’s put two circles made of thick paper like following and
make various angles with tuming one of them.

The size of the angle is not related to how long the 1e11grh}
) ;-j-.:::'!. | of gides making the angle are, but to how open they are.

[It would be convenient if we could express the size of angles = &5
using numbers like length, area, volume and weight. ,‘

The unit for measuring the size of angles is degree, and is
used ‘°*” to show it.

2020
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f ‘We use a profractor to measure the size of angles.

1° (1 degree)

1° x 90 = right angle.
Right angle = 90°

(These angles are 90°, 45°, 60° and 30°)

148

90 (Right angle)
=

45°

60°
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1 f* Find 30°, 45°, 60° and 90°.

L LKL

Nﬁwuseapmtmctortaﬁndthesmeuftheanglea
Angle g can be written

as La, or

ZLBAC (read as angle

CAB).

B

A C

( 1| Place the central point of the protractor at vertex A. i
2 | Match side AB to the 0° sign of the protractor.
3 | Read the scale mark that overlaps side AC

Which scale do we use,
B | 50° or 130°?
50 e,
"y il B, E
]

‘?#-r ‘i

g v

.4 &
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rIfﬂ1esideufanang151
is short to measure,

1 don’t think it’s so
difficult. Let’s
thinking it out for

| ourselves.

‘I\
L)

150

We can read degrees of the protractor from left to right as well.

Zeis 180°. It is called straizht angle .

,:g;.i’ Measure the gize of the angles on a set square.

> i




4

&5 Drov o angie with 2 sizs of 50°.

[ Can we also use a protractor to draw angles? ?

/IIl Draw a straight line AB.

[Z] Place the central point of
the protractor at the point
A, and match line AB to
the 0° line.

[3] Draw & point C at the 50°
scale mark.

[4] Take the protractor away
and draw a line with a

ruler from the point A to
the point C.

ZCAB is 50°

A

7

30° ® 75°

© 90°

3 7 Draw angles of following sizes with  protractor.

@ 135°

Now we can measure and draw angles.
Let’s learn much about angles.

151
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& The angles can be classified like below:

angle slze name

C smaller than 90° acnte angle

‘ 90° right angle

\ larger than 90° and obtuse angle
smaller than 180°

~ 180° straight angle

The relation of angles can be expressed like below.

When two angles have a common side and a common vertex,
and don’t overlap, they are adjacent angles,

A C Za and Zb are adjacent angles.
Becange: They have the common
a side, BC
B b o They have the common vertex, B
When two angles add up to 90° (a right angle), they are
complementary angles.

Zaand Z b are complementary angles.
a : Because: They add up to 90°

When two angles add up to 180° (a straight angle), they are called

supplementary angles.
-
Za and Z b are supplementary angles. :
d b Because: They add up to 180°
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305,

:l" 110°

Vertically opposite angles are the angles opposite each other when
two lines cross.

La and £Lb are vertically opposite angles,
)}cﬂ( The interesting thing is that vertically
opposite angles are mutually equal.
La=Lb

LS

§ " FindZa, £b, Zc, Zd and Ze without messuring the angles.

a
60°

N

N

E, d Say the angle formed by the long hand and the short hand of the
clock.

@

1
—rm

K
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w' 13.3 Exercise

1 | 1. Answer the names of following angles.

VAN

2.Measure the following angles with a protractor.

\ )

3. Draw following angles with a protractor,

@25 @ 17 © W @ 180F
4. Find the hidden angles.

Du

35°

5. Find the size of the following angles.

a Challengel &

6. Explain what are parallel and perpendicular in words.
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Chapter Fourteen
Triangle

14.1 Triangles

C’_\? Let's study caracteristics of trianglas.]

ﬂ:‘?f Let’s sort the triangles according to the length of their sides.

By measuring the length of the sides with a ruler,
find the characteristics of the triangles.

= =i

ﬂ]\
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Triangle based on the sides :

Three equal sides
V ﬁ Equilateral Triangle

i A Isosceles Triangle
No equal sides A /\
Scalene Triangle

@’m"

Using a protractor, let’s measure the size of each angle of the
triangles in the previous page.

A N/

Equilateral Triangle hag three equal angles, and they are always 60°.
Isosceles Triamgle has two equal angles.
Scalene Triangle has no equal angles.

Not only the length of the
side but also the angles

[OI(. Now let’s try
P ) characterize triangles.

to draw triangles.
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: ‘_ﬂ ___\;:;p Draw a scalene triangle with side of 7cm, 5cm and

dom. [Lat's begin with drawing 7cm Side?

[ OK. But how can we draw the
second and third sides? Is there

any good way to find the meeting  /
point of these sides? 5cm

[nthedlagrmnabove the trace of the points of the gides are the same
as a part of circles; in other words, 'pmntswhlcha;rethcsame

distance from the center.” .

N ?(IremnmberwesmdieditinGrades. ]

/In order to l:h'swapm‘t::ofat:.in:le,Wm:.antrmkeasft:aled1'et:1:angulm'pim;r.ajl‘,’1
of cardboard with small holes like below, instead of using a board pin
and thread like the illustration above.

i A ——

567809

e AR
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/E Draw oue side. (the bese of the trinngle"?cm) N
2 |Draw 5 em 3 | Draw 4 cm Draw two
distance from the distance from the mdes using thc
left side of the right side of the ]t:_bomt you’ve

J

\_ base. base.
4 » Draw the following triangles with the method above.

4

¢ 1. An equilateral triangle with sides of 6cm.
2. An isosceles triangle with sides of S5cm, 7cm and 7em.

Triangle has two equal angles. Can we draw a triang

Equilateral Triangle has three 60°, and Isoscele
le
uging these angles?

(o
é;g}‘ Draw an equilateral triangle with sides of Scm.

a 1 Drawunemde (line AB: Scm) L A
: A B
2 | Draw an 3 | Find 60° from B. | 4 | Drawaline
with a just th
size of 60° with ?;?gmam?} th:
the method in :
\_ page 151.
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After drawing the equilateral triangle with sides of 5cm using the

angles, make gure that length of all the sides are the same and all the
angles are 60°.

zr":? Draw the triangles as on the right.

80,
Triangles based on the angles e o
'S ™
Triangles can also be named based on their angles.
All three angles are less than 90°
7.\
Acute Angled
(@, bandc<90°) 4 5 | Triangle
One of the angles is 90°
Right Angled
Triangle
(d=90°
One of the angles is greater than 90°
Obtuse Angled
(e = 90°) 7 | gle
;m? Are we able to darw an Obtuse
_ Angled Triangle which has two
obtuse angles? And explain the
reason why? 1 '
: |

= | < Il %
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/ 4
14.2 Exercise

",/u;

W 1. Draw following triangles.

(1) @ ()
5 em.
m |
“dem Tl:m_d
2. Answer the two kinds of names of the triangles above
Classification Triangle (1) | Triangle(2) | Triangle(3)
Based on the sides
Based on the angles

3. Group these triangles and talk about grouping in the classroom.

160
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Answers

Chapter 1:

Exercise(1) Page-10
1. Do yourself 2. (1) 45,000, Forty five thousand (2) 1,00,00,000;
One crore (3) 10,00,000; Ten lac (4) 1,27,000; One lac twenty seven
thousand (5) 10,11,010; Ten lac eleven thousand and ten 3. Do yourself
4.(1) 1,35,24,689 (2) 97,57,834 (3) 5,55,55,555 5.(1) A. 1500
B. 3000 C. 4900 (2) A. 90,000 B. 93,000 C. 1,00,0600 D. 1,07,000

Ezercise—(l} Page-18
L{D< >3 <@)<(5)=(6)> 2.(1)9,86,420 (2) 2,04,689
(3) 8,64,209 (4)2,04,689 3, 371993-886397-2456891-3704231-4589476,
hlghcstpopulatlun D, lowest population: A.

Chapter 2:

Exercise- Page-32
1. (1) 68,889 (2) 80,194 (3) 73,921 (4) 90,000 (5) 69,989 (6) 80,420
(7) 83,094 (8) 96,006 (9) 3,810 (10) 34,518 (11) 60,909 (12) 1,607
(13) 80,306 (14) 5,894 (15)22,222 (16) 99,991 2.(1) 55,101 (2) 1,240
3. (1) 10,000 (2) 2,426 (3) 28,500 4, 32,955 sacks S, 2,043 6. 4,572
7.8,126 8.33,710 9, (rita; 420 taka, Shihab 810 taka 10. 3,995 boys
11. 17,700 taka 12. 2,029 years old.

Chapter 3:

Exercise- Page-42
1. (1) 7,520 (2) 1,000 (3) 45,300 (4) 10,000 (5) 3,770 (6) 63,272
(7) 35,280 (8) 64,960 (9) 31,668 (10) 6,240 (11) 31,784 (12) 98,472
(13) 65,626 (14) 98,331 (15) 88,803 (16) 62,321 (17) 43,010 (18) 86,328
(19) 83,804 (20) 87,969 2.(1) 15,616 (2) 19,278 (3) 18,240 (4) 49,500
(5) 1,57,800 (6) 2,46,000 3.(1)91,200 (2) 91,200 (3)9,12,000
4. (A) wrong-143 x 6; right- 143 x 60; right answer 8866 (B) 0 of
multiplicand is not multiplied; right answer 74783 5. Do yourself.
6. 10,000 taka. 7. 18,500 tickets 8.3,125taka 9.3,450m
10.1,980 taka 11, 50,875 taka 12, 74,490 pieces.

Chapter 4
Exerclse- Page-56
1.(1) 2 (2) 2 remainder 10 (3) 8 (4) 7 remainder 30 (5)3 (6) 2
<l
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(7) 2 remainder 1 (8) 3 remainder 15 (9)4 (10) 6 remainder 17 (11) 8
(12) 5 remainder 6 (13} 31 (14) 43 remainder 3 (15) 21 remainder 25
(16) 30 remainder 14 (17) 215 (18) 216 remainder 6 (19) 93

(20) 291 remainder 4 2. (1) 38 (2) 8 (3) 100 (4) 14 3. Do yourself.
4.112 5.9 groups 6. 7 postcards 7.41 boxes, B pencils 8.22m
9. 27 taka 10. 28 garland

Chapter 5
Exercige- Page-65
L.(1}353 (2)35 (3)25 (4) 7 2(1) 824 (2)524 (3) 66,000
(4) 9,200 (5) 800 (6) 776 3.(1) 108 taka (2) 146 (3) 3,000 taka
4. Moni 500 taka, Rupa 375 taka §. father 44 years old, son 11 years old.
6. 96 taka 7. Do yourself.

Chapter 6

Exercise- Page-72
L(1)> )= 3)= 2.(1)true (2)true (3)false (4) false 3.(1)—, x
(2)+,— ) x,+ @)—x 4.(1)25 (2)8 (3)9 (494
5. (1) [1+7 = 5 remginder 4, [ 1=39 (2)7x ((_1+3) =56, [ =5

Chapter 7:
Exercise- Page-858

1.(1)4,8,12 (2)7,14,21 (3)11,22,33 (4) 14, 28,42 2.(1) 12, 24, 36;
LCM 12 (2)36,72,108;, LCM 36 (3)9, 18,27, LCM 5 (4) 40, 80, 120;
LCM40 3.(1)1,3,9 (2)1,2,3,4,6,12 (3)1,2,3,4,6,8,12,24
41,2,3,56,10,15,30 4,(1)1,3 HCF:3 (2)1,7 HCF.7 (3)1,
2,4,8 (4)1 HCF:1 & (1) LCM 24, HCF 4 (2) LCM 36, HCF 3

6. Do yourself 7. (1) 248, 460, 912, 810 (2) 339, 912, 555, 810, 951
(3) 515, 460, 555,810,725 8.12:24pm. 9.12cm 10.35cm

11. 9 children; 5 apples, 2 cranges.

Chapter 8:
Exercise- (1) Page-94
2 5 3 42 2 4 17 3 L
1(1)3’8’ " 487 25 (2)4’1"?6’3 i
2 3 6 _1 4 4 4 4 11 11 .11 11
20 <3<3<7 @D1<9<7<35 Oo91<n3<17°13
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-‘ﬂl/r/

/f :‘ 3.()2 @12 (327 M5 (5372 6)48 (D1 (8) 3
£ “‘ﬂ 97 (10) 2 (A1) 13 (12) 9
LOF QL WDTO2OF0TOFO2
0% ang (123
Exercise- (2) Page-101
L)>Q<B>@=()> 203 Q2 OZ OB 2
©13 D5 ®OF 203 3L AL O+ @
wieolonlelolawl «0fF o3 0
(4);% 512 @1 3)2 6() gkm(z) Sabuj’s; 2i4km
7. (1) 32 part (2) 55 part

Chapter 9:
Exercise- (1) Page-110

L)< )< @)> @> 9= > (= @)= 2.(1})1@2)13{3)

1342 (5)03 (6)0.8 (0.9 (8)16 3.(1)48 (2)43 (3)8.6 (4)9.8 (5)
8(6)2.1 ()22 (8)6 (9)0.8 (10)02 4.(1)172km (2) 0.8 km

Exercise- (2) Page-120
1. Do yourself 2. (1) 31 (2) 296 (3} 1,047 (4) 1,030 3.(1)6, 0.06
(2)4.9, 0.049 (3} 11.1, 0.111 (4)732, 0.732 4.(1)4.81 (2)8.08 (3)7.8
4321 (5)4 (6)3.19 (7)7.95 (8) 1.83 (9)8.58 (10)1.07 5.(1)0.12

(2)034 (3)0.75 (4)% (5)% (6)43—0 6.3.68C 7.(1)5301 (2)0.135
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" 4
f/_;/

/g Chapter 10:
4 Exercise- (1) Page-126
Y 1.(1)08cm (2)4,200m (3)5450ml, 545d1 (4)307 em (5)0.6kg
P 2.2162cm, 2.162m 3.0.605kg, 605 4.1,020ml, 102dl and 1.02L
5.2.35 km and 2035 m.

Exercise- (2) Page-133
L(1)8cm? (2)25cm? (3)18cm? 2.28m, 3. (1) 40,000 cm? (2) 30,000 cm?
(3) 10,00,000 m? (=1km?) 4.(A) 2250 cm? (B) 320 o {C) 200 km?

Chapter 11:

Exercise- Pagr-137
1. 4 min, = 240 (seconds) 12 min, = 720 (geconds) 10 min. = 600 (seconds)
3 min. = 300 (seconds) 20min. = 1200 (seconds) 2. 72 hours = 3 (days)
120 hours = 5 (days) 2 weeks =14 (days) 3 weeks=21(days) 4 weecks
=28 {days} 3. 70 minutes/1 hour and 10 minutes, 140 mimites/2 hours
and 20 minutes, 135 minutes/2 hours and 15 minutes, 180 mimites/3
hours 4.1 year 3 months 5. 32 days.

Chapter 12:
Exercize- Page-142
1. 48, 27, 35, 14 2-3. Do yourself.

Chapter 13:

Exercise- Page-154
1. a, obtuse angle b, right angle ¢, straight angle . acute angle
2.a=15" b=107" 3. Do yourself. 4.55°, 135/457135" 5.a.210°

b. 3607 ©. 270" 6. Do yourself.

Chapter 14:

Exercise- Page-160
1. Do yourself 2. Triangle (1) isosceles, acute; Triangle (2) equilateral,
acute; Triangle (3) scalene, right angled 3, Do yourself
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